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Question Number : 1 Question Id : 2105294090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning

Options :

21052916201. 1

21052916202. 2

21052916203. 3

21052916204. 4

Question Number : 1 Question Id : 2105294090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916201. 1

21052916202 2

21052916203. 3

21052916204. 4

Question Number : 2 Question Id : 2105294091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following list of learner characteristics, identify those which are associated with ‘field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A, Cand D only
4. C, D and E only



Options :

21052916205. 1
21052916206. 2
21052916207. 3
21052916208. 4

Question Number : 2 Question Id : 2105294091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052916205, 1
21052916206. 2
21052916207. 3
21052916208. 4



Question Number : 3 Question Id : 2105294092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person's self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. D and E only
Options :
21052916209. 1
21052916210. 2
21052916211. 3
21052916212. 4

Question Number : 3 Question Id : 2105294092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052916209. 1
21052916210. 2
21052916211. 3
21052916212. 4

Question Number : 4 Question Id : 2105294093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Scale of measurement Properties
A. Nominal I. Classification and order
B. Ordinal 1. Classification, order and equal units
lIl. Classification, order, equal units and absclute
C. Interval
zero
D. Ratio V. Classification only

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-LC-IV,D-IlI
JA-NLB-ILC-IV,D-I
4 A-IV,B-LC-1I,D-1I
Options :

21052916213. 1
21052916214. 2
21052916215.3
21052916216. 4

Question Number : 4 Question Id : 2105294093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1L,B-ILC-I,LD-1V
ZA-1,B-1L,C-1V,D-1l
JA-ILB-ILC-IV,D-I
4 A-IV,B-1LC-1I,D-1I
Options :

21052916213. 1
21052916214. 2
21052916215.3
21052916216. 4

Question Number : 5 Question Id : 2105294094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning outcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916217. 1

21052916218. 2

21052916219. 3

21052916220. 4

Question Number : 5 Question Id : 2105294094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916217. 1

21052916218. 2

21052916219. 3

21052916220. 4

Question Number : 6 Question Id : 2105294095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it
belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research
Options :

21052916221. 1



21052916222. 2
21052916223.3
21052916224. 4

Question Number : 6 Question Id : 2105294095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052916221. 1
21052916222. 2
21052916223. 3
21052916224, 4

Question Number : 7 Question Id : 2105294096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement lI: The focus of action research is basically on the amelioration of prevalent
practices

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052916225. 1

21052916226. 2

21052916227. 3

21052916228. 4

Question Number : 7 Question Id : 2105294096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916225. 1
21052916226. 2
21052916227. 3
21052916228. 4

Question Number : 8 Question Id : 2105294097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List II
Key research terms Description
A. Research problems I. Devices using which data are gathered

B. Research hypothesis
P II. & subset drawn from a defined set or universe

I1l. & tentative solution or answer to a research
C. Sample of study .
question

V. The research question which has to be
D. Research tools

answered

Choose the correct answer from the options given below:

TA-IV,B-IILC-1,D-|
ZA-ILB-ILC-1,D-IV
FA-,B-ILC-IILD-V
4 A-IILB-IV,C-1,D-1
Options :

21052916229. 1
21052916230. 2
21052916231. 3



21052916232. 4

Question Number : 8 Question Id : 2105294097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-NLC-1LD-I
ZA-ILB-ILC-1L,D-V
3A-L,B-ILC-lILD-V
4 A-IILB-IV,C-LD-I
Options :

21052916229. 1
21052916230. 2
21052916231.3
21052916232. 4

Question Number : 9 Question Id : 2105294098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2ABCDE
3.ACBDE
4B A CDE
Options :

21052916233. 1
21052916234. 2
21052916235. 3
21052916236. 4

Question Number : 9 Question Id : 2105294098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916233. 1
21052916234. 2
21052916235.3
21052916236. 4

Question Number : 10 Question Id : 2105294099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only
Options :
21052916237. 1
21052916238. 2
21052916239. 3
21052916240. 4

Question Number : 10 Question Id : 2105294099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052916237. 1
21052916238. 2
21052916239. 3
21052916240. 4

Sub-Section Number : 2
Sub-Section Id : 210529104
Question Shuffling Allowed : Yes

Question Id : 2105294100 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the passage carefully and answer the questions that follow



In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is alsc one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many cempanies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product’s price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors’ strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

Sub questions



Question Number : 11 Question Id : 2105294101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted

2. Money was charged for product or service
3. It provided options for buyers

4. It promoted non-price factors

Options :

21052916241. 1
21052916242.2
21052916243. 3
21052916244. 4

Question Number : 12 Question Id : 2105294102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. It is rigid in character

4. |t ensures channel commitment
Options :
21052916245. 1

21052916246. 2
21052916247. 3
21052916248. 4

Question Number : 13 Question Id : 2105294103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Options :

21052916249. 1

21052916250.2

21052916251.3

21052916252. 4

Question Number : 14 Question Id : 2105294104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer's value perception

4. Company's quest for high profitability
Options :

21052916253. 1

21052916254. 2

21052916255. 3

21052916256. 4

Question Number : 15 Question Id : 2105294105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, B and C only
3.C, D and E only
4. B, C and D only
Options :
21052916257. 1
21052916258. 2
21052916259. 3
21052916260. 4

Question Id : 2105294100 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105294101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916241. 1

21052916242. 2

21052916243. 3

21052916244. 4

Question Number : 12 Question Id : 2105294102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916245. 1

21052916246. 2

21052916247. 3

21052916248. 4

Question Number : 13 Question Id : 2105294103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052916249. 1

21052916250. 2

21052916251. 3

21052916252. 4

Question Number : 14 Question Id : 2105294104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916253. 1

21052916254. 2

21052916255. 3

21052916256. 4

Question Number : 15 Question Id : 2105294105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl Sl Harell & DHG &I UHIdd a1 HYiRT B a1 3 RS HH-4 § ?
A. Ufcreaidal @ Yot

B. gAY fauur fasor

C. 9I9IR &1 §bR

D. Uth IRid e ¥ Gl Wil dd diad FHeRu

E. ISR Hoall I DA 0

Hel faded g -

1. ®Bdd A D IR E
2. Pad A, B3R C
3. PaqaC, D 3MRE
4. ®da B, C AR D
Options :
21052916257. 1
21052916258. 2
21052916259. 3
21052916260. 4

Sub-Section Number : 3
Sub-Section Id : 210529105
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105294106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient
Options :
21052916261. 1
21052916262. 2
21052916263. 3
21052916264. 4

Question Number : 16 Question Id : 2105294106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
& GEN, AfERTHEGAI B eyl ® §gldl & 99 98 eldl & ;

1. Hifd®
PREICHIEGH
3. FATHD
4, gfftrs

Options :

21052916261. 1
21052916262. 2
21052916263. 3
21052916264. 4

Question Number : 17 Question Id : 2105294107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classroom communication is

A. Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only
Options :
21052916265. 1
21052916266. 2
21052916267. 3
21052916268. 4

Question Number : 17 Question Id : 2105294107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



DT - DE GREU BT & :

A. TEI-39E
B. Aeil-thisd

C. GEUHD

D. HeiR

E. 7R - 3fcidd

Hel faded g -

1. Had A 3R B
2. @aAB AR D
3. @A A AR C
4. HaAD AR E
Options :
21052916265. 1
21052916266. 2
21052916267. 3
21052916268. 4

Question Number : 18 Question Id : 2105294108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes
precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052916269. 1

21052916270. 2

21052916271. 3

21052916272. 4

Question Number : 18 Question Id : 2105294108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T el oy Ru T § : te ofiayH () AR GEU & (R) B

HiPHYH (A) : fH TR &I 964 ¢4 © UHTE! U H eradl Hed! 8|

d (R) : Ueh HRcl YUYl el H food! THe] & S 5l ofiH 3 Ugd S9! GH14UH ST |
SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

(A) 3R (R) THI T&1 & 3R (R), (A) P! ol ARG &l o
(A) 3R (R) &I GE1 € 3IR (R), (A) P! UgI SARAT 81 8|
(A) H81 8, b= (R) o7 B

(A) 7TTd & b (R) Hel B

Options :

21052916269. 1

21052916270. 2

21052916271. 3

21052916272. 4

1.
2.
3.
4.

Question Number : 19 Question Id : 2105294109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List |

List 1l

Communication barriers

Description

A, Semantic

. Lack of physical clarity in channel

B. Psychological

Il. Faulty message

C. Personal

Ill. Poor retention

D. Physical

V. Lack of time

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

21052916273. 1
21052916274. 2
21052916275.3
21052916276. 4

Question Number : 19 Question Id : 2105294109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gait-1 § Gai-1l &7 FHaE &

] Ti-Il
TUOU & HARY  [[aR0
A. Teadd I GRUT () H Hifds syl &1 4G
B. FAIG9I® I1. Ffequl gem
C. Al 1. FHF BIfe BT AHGURT
D. Hifd® V. GHG & HYG
il fau U fasheal § O gel 3« &1 90 & -

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

21052916273. 1
21052916274. 2
21052916275.3
21052916276. 4

Question Number : 20 Question Id : 2105294110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052916277. 1

21052916278. 2

21052916279. 3

21052916280. 4

Question Number : 20 Question Id : 2105294110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAE USRI R

HUA-| ; Yot AR Tt &1 1 Iaad B H 31 Tdy gl 2
HYH-1 : T8 3 Udul & H1e9H Y Ydvell & A2dd & BRI HHd Bidl ¢
IRa BYH & H1eilie | Fgifhd fdeedl H 4§81 3w 9

1. @Y | 3R 1| ST T8 B

2. YA | AR || SH 9 g

3. BYA-1 9 g, food HY-11 To7d & |
4, HYF-| AT g, foog BYA-11 Gl B




Options :

21052916277. 1
21052916278. 2
21052916279. 3
21052916280. 4

Question Number : 21 Question Id : 2105294111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1.10 km
2. 12 km
3.15 km
4. 18 km
Options :
21052916281. 1
21052916282. 2
21052916283. 3
21052916284. 4

Question Number : 21 Question Id : 2105294111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U oiga 22 fohHl & gl Bl 4 °¢ H SRY H T AR dard 4 &I 4 HH: 4 foHl ga
HR 10 ey de1 & 710 T 70 Bl & | 39D gR1 dad ad B 115 g1l [dd-l 6 ?

1. 10 T,

2. 12 T,

3. 15 TobHl

4. 18 Tl
Options :
21052916281. 1
21052916282. 2
21052916283. 3
21052916284, 4

Question Number : 22 Question Id : 2105294112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

11

17

5

11

7

13

13

19

Options :
21052916285. 1
21052916286. 2
21052916287. 3

21052916288. 4

1.

2.

3.

4,



Question Number : 22 Question Id : 2105294112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U URHY T3] D1 5 34D W H 6 3fd 51 3G SN H 4 DI Jhg DI ol g AR AT 8
udimd|d|%ﬂ?%@|gﬁaﬁﬂ%|%ﬂﬂﬁﬁﬁww%?

it

17
5
11
7
13
13
19

[l

Options :

21052916285. 1
21052916286. 2
21052916287. 3
21052916288. 4

Question Number : 23 Question Id : 2105294113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following number series
0, 6, 24, 60, 120, X
What is the value of term X7

1. 180
2 210
3. 240
4,156



Options :

21052916289. 1
21052916290. 2
21052916291. 3
21052916292. 4

Question Number : 23 Question Id : 2105294113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgifhd &= 4aar | fdar Sife

0, 6, 24, 60, 120, X
X B A T & ?

1. 180
2. 210

3. 240

4. 156
Options :
21052916289. 1
21052916290. 2
21052916291. 3
21052916292. 4

Question Number : 24 Question Id : 2105294114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes
Options :
21052916293. 1
21052916294. 2
21052916295. 3
21052916296. 4

Question Number : 24 Question Id : 2105294114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l ofc UIsY TG 3{T-3{TH 9ae ol df UH <] &l ®HR: 10 e 3R 15 fqe § R 9@d 5
Ofg 3iFf UIsyl &l o] &I Y34 & 770 Us -T7Y Eid o0 9e o <1 & W34 o foa7 99g o

1.6 e

2.8 e
3.7.5 e

4 9fie
Options :
21052916293. 1
21052916294, 2
21052916295. 3
21052916296. 4



Question Number : 25 Question Id : 2105294115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, cegi, egik, gikm, ___

1. jlor

2. hjlo

3. ikmo

4. ikmg
Options :
21052916297. 1
21052916298. 2
21052916299. 3
21052916300. 4

Question Number : 25 Question Id : 2105294115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgifdd 2eg y@el & ST WUsg &1 BRI ?

aceg, cegi, egik, gikm, __

1. jlor
. hjlo
. ikmo

Y A

. ikmg
Options :
21052916297. 1
21052916298. 2
21052916299. 3
21052916300. 4



Question Number : 26 Question Id : 2105294116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916301. 1

21052916302. 2

21052916303. 3

21052916304. 4

Question Number : 26 Question Id : 2105294116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;
HIHGYA (A) : GO0 W-HIa, W-Yd 311 T i aran sidl o

a® (R) : God 30 BRE Aldl G DI el oidl & Sicd [Pl 3= gRT UTRd il & 3R 394 it
JFRaa H g gl

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) U8l & U (R) 7Teid &

4. (A) 7T & TR (R) el &

Options :

21052916301. 1

21052916302. 2

21052916303. 3

21052916304. 4

Question Number : 27 Question Id : 2105294117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjecined but not
necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can
be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916305. 1

21052916306. 2

21052916307. 3

21052916308. 4

Question Number : 27 Question Id : 2105294117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;

HHHYA (A) H TEEU guf U 9 9ad 3R U Udld gid &) d §9dd gld & Ui Si-aidd:
Hafed T2l 5id ¢

dd (R) : dich BRI B YGETHRU 39D AT U HHada: Y&fid gl & SHiaT U8 Sl o 9&dl &
fob Ugalioey gad U 4 Helia g

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5

2. (A) 37 (R) GIFT Ual & 311% (R), (A) Bl Ug! UReAT Tal
3. (A) T8 & URg (R) T &

4. (A) T0d 8 W (R) Tl &

Options :

21052916305. 1

21052916306. 2

21052916307. 3

21052916308, 4

Question Number : 28 Question Id : 2105294118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smiriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916309. 1

21052916310. 2

21052916311. 3

21052916312. 4

Question Number : 28 Question Id : 2105294118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;
By (a) - OfG ofa ofR Wi & o9 ufowai 8 8, a1 i, i 9 oifie murdt aidh &1

@ (R) : ‘Y Jaf 3R IuFYal & qRiHe Tsqs & G2l &, weie Wi ariHe GEri @
U IR B

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052916309. 1

21052916310. 2

21052916311.3

21052916312. 4

Question Number : 29 Question Id : 2105294119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Quantity and quality of a categorical proposition decide

1. Validity

2. Invalidity

3. Mood

4. Figure
Options :
21052916313. 1
21052916314. 2
21052916315.3
21052916316. 4



Question Number : 29 Question Id : 2105294119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl geap b areg &t A SR g RgfaRed &1 Ao sl g

1. QYT

2. AT

3. HIR

4. Ppid
Options :
21052916313. 1
21052916314. 2
21052916315. 3
21052916316. 4

Question Number : 30 Question Id : 2105294120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following decides the figure of a categorical proposition?

1. Major term
2. Minor term
3. Middle term
4. Copula
Options :
21052916317. 1
21052916318. 2
21052916319. 3
21052916320. 4

Question Number : 30 Question Id : 2105294120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Ffeiad ¥ 4 &HF - 91 [od Yy 9o a1 &1 HPd S H0g Bl 6 ?

1. UHE Ug

2 g UE

3 HEH UG

4 W(Co;}ulaj
Options :
21052916317. 1
21052916318. 2
21052916319. 3
21052916320. 4

Sub-Section Number : 4
Sub-Section Id : 210529106
Question Shuffling Allowed : Yes

Question Id : 2105294121 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No
Question Numbers : (31 to 35)
Question Label : Comprehension

: Yes Group Comprehension Questions



Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 2019.

Year\Country X Y Z 1L

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105294122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X

2L

3.¥

4T

Options :
21052916321. 1
21052916322.2
21052916323. 3
21052916324. 4



Question Number : 32 Question Id : 2105294123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which country registered maximum growth (%) by 2019 with reference to year 20157

2T

3. X

4.

Options :
21052916325. 1
21052916326. 2
21052916327. 3
21052916328. 4

Question Number : 33 Question Id : 2105294124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the country 'Y', what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2. ~12.77 %
3.~13.25%
4 ~11.65%
Options :

21052916329.
21052916330.
21052916331.
21052916332.

AW O~

Question Number : 34 Question Id : 2105294125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
In any given year, compared to the previous year which country(s) registered maximum growth
(%6)?

1T

2. Zandy

3 ¥

4 Xand Z
Options :
21052916333. 1
21052916334.2
21052916335. 3
21052916336. 4

Question Number : 35 Question Id : 2105294126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
91,11 %
. 117.32 %

. 121.81 %
Options :
21052916337. 1
21052916338. 2
21052916339. 3

21052916340. 4

[ T I 9

Question Id : 2105294121 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (31 to 35)



Question Label : Comprehension

frgifea mifereT © faaw =% 59 2015 ¥ 2019 79 5 g0 FT sEfU FIRF IR S| ¢, v,
z. 7) ¥ fore wifie Tdftevoiin oot s § 99-9R ofee fRu mw §1 =9 oiest & amuR
W'ﬂ%ﬁ'%ﬁ?ﬁ'

wTfhd FdiHuiiy Sl &9 (GW) :
ay / ox X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105294122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

aul 2016 - 2017 P &1 (9 G A TaHNG Soll B WG & T ifimad g (9) & @ 87

1. X

2L

3.¥

4T

Options :
21052916321. 1
21052916322. 2
21052916323.3
21052916324. 4



Question Number : 32 Question Id : 2105294123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
®H-4 2% 94 2015 & &4 T 2019 9% AWHIH gfE (%) col Dl g ?

1.2

2T

3. X

4.

Options :
21052916325. 1
21052916326. 2
21052916327. 3
21052916328. 4

Question Number : 33 Question Id : 2105294124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
S 'Y & U Adieeuiig el &Fdl ©f Hgd 9t ais (%) fhaai @i g ?

1. ~10.85%
2. ~12.77%
3. ~13.25%
4 ~11.65%
Options :

21052916329. 1
21052916330. 2
21052916331. 3
21052916332. 4

Question Number : 34 Question Id : 2105294125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Udddi a4 @1 Jom1 H fodl 16T T 99 H 6y <=1/ foo <1 A 3ifidan 3ig (%) Gel @i 8 ?

£
2.Z3ARY

3.Y

4 %X3N7
Options :
21052916333. 1
21052916334 2
21052916335. 3
21052916336. 4

Question Number : 35 Question Id : 2105294126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
il aRi <=1l & s, a4 2015 & Y ¥ 9 2019 # Fdiemolig Sl &1 U & 3 999
g (%) o 8 7

3.117.32%
4,.121.81%
Options :
21052916337. 1
21052916338. 2
21052916339. 3
21052916340. 4
Sub-Section Number : 5
Sub-Section Id : 210529107
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 2105294127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input Output Software
3. Basic Input Qutput System

4. Binary Inner Open Software
Options :

21052916341. 1

21052916342.2

21052916343. 3

21052916344. 4

Question Number : 36 Question Id : 2105294127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BlOS TNEUT 2eg &1 Q1 &9 1 6 ?

1. 7 5=mHEE JiaE- el
2. G231 29T #f13eYe YIHeddy
3. 9 3Ye 33eye fawen

4, 1R 2R HIUH YRGR
Options :

21052916341. 1

21052916342, 2

21052916343. 3

21052916344, 4

Question Number : 37 Question Id : 2105294128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

Options :
21052916345. 1
21052916346. 2
21052916347. 3
21052916348. 4

Question Number : 37 Question Id : 2105294128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
H BISadR § WM el & -

1. DR <qa

2. Hi-ex T gidiyg
3. GIged®

4.70d

Options :
21052916345. 1
21052916346. 2
21052916347. 3
21052916348. 4

Question Number : 38 Question Id : 2105294129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

Options :

21052916349. 1
21052916350. 2
21052916351. 3
21052916352. 4

Question Number : 38 Question Id : 2105294129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ye waRiiew gq Faifed d d oi-@i fafu g 2

1. 3T (@12A)

2. O a1 Ay

3. U3 9@1¢ quT R 91e
4, 4=

Options :
21052916349. 1
21052916350. 2
21052916351. 3
21052916352. 4

Question Number : 39 Question Id : 2105294130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916353. 1

21052916354.2

21052916355. 3

21052916356. 4

Question Number : 39 Question Id : 2105294130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy G TN B : T @l i@y (A) SR GHR @I ad (R) Pel T & ;

HYEHYH (A) : GHRIF 9gd Y SfHa1s- Usgsd 3Ude & a4l 34d] didugdl 96 Lol o
dd (R) : 39 UBR 4 9gd 4 GidUwHl H ¥ el UledshH &1 98- U dof gAld ol

U Byl b e H Fgifed famedl | 9 waifts 3uged 3w g4 -

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052916353. 1

21052916354. 2

21052916355. 3

21052916356. 4

Question Number : 40 Question Id : 2105294131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4, Decimal
Options :
21052916357. 1
21052916358. 2
21052916359. 3
21052916360. 4



Question Number : 40 Question Id : 2105294131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F yonel fRgifesd & @ iy e uonel & wgad g 8 7
1 ﬁlﬁfﬁéﬁ

2. ffaed

4 SfaEd
Options :
21052916357. 1
21052916358. 2
21052916359. 3

21052916360. 4

Question Number : 41 Question Id : 2105294132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-
five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4, One-third
Options :
21052916361. 1
21052916362. 2
21052916363. 3
21052916364. 4

Question Number : 41 Question Id : 2105294132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

edlsc! [dHry Tedl & ded a9l 4 H, 99 1990 - 2015 & §ig Uid a4 U HH 3 B dld Jg &3
¥ UTT 1 Sl arell Qe i i 41 2

1. 1L

2. GI-faerg

3. dH-9E
4,7 - figlR
Options :
21052916361. 1
21052916362. 2
21052916363. 3
21052916364. 4

Question Number : 42 Question Id : 2105294133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1l

Emitted Pollutants Environmental Impact

A. Carbon dioxide |. Formation of acid rain

B. Carbon monoxide II. Toxic and are carcinogenic

C. Nitrogen oxides I1l. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons V. Contribution to global warming as a
greenhouse gas

Choose the correct answer from the options given below:

TLA-IV,B-LC-1,D-1I
2ZA-IV,B-,C-1,D-Il
JA-IV,B-ILC-MLD-I
4 A-1L,B-IILC-ILD-WV
Options :

21052916365. 1
21052916366. 2
21052916367. 3
21052916368. 4

Question Number : 42 Question Id : 2105294133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- Dl l-11 & gy GHferd &Y

gal-| qal-1l

ERIEGR LD ThiaR0ig HHE

A TTET SEHGAES |1 3% g9l & HH

B. BIEH AMIEGES  |IL.fa8T 9 dTeRS
C. AISeIoH ATeed (il TIa 9UT 499 e I & SR

D. Soi 3R IV. TF YH-81599 I8 & ©U H aid® arg- &I
HEEIEIERS AR
i< fgu 7Tu fo@eal 5 © Ul ST &1 90 @9 -

TA-IV,B-LC-|,D-1
ZA-IV,B-LC-1,D-1I
SA-IVB-ILC-1LD-|
AA-,B-ILC-ILD-IV
Options :

21052916365. 1
21052916366. 2
21052916367. 3
21052916368. 4

Question Number : 43 Question Id : 2105294134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

A USA
B. China
C. Russia
D. India
E. Japan

Choose the correct answer from the options given below

1.A B D CE
2B, ADCE
3.B.ADEC
4. A B, D EC
Options :

21052916369. 1
21052916370. 2
21052916371. 3
21052916372. 4

Question Number : 43 Question Id : 2105294134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o2 & 3T HE-SE3HRIEs S § 3% diGH & 3faie] ©H § gl ®4 @ UgdH @

A. JUEU
8. 9

C. =9
D. HRd
E. S
4 feu 7Y faeedl & © el IR g -

1.A B D CE
2B ADCE
3.B.ADEC
4 A B DEC
Options :

21052916369. 1
21052916370. 2
21052916371.3
21052916372. 4

Question Number : 44 Question Id : 2105294135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at
efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916373. 1

21052916374.2

21052916375. 3

21052916376. 4

Question Number : 44 Question Id : 2105294135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYEYH (A) : UGd HHDHed U ied Dig Ua- 9] 60% Y 65% DI DRIGIC U3
v & o T & o1 9@dl 3

d (R) : UaH gad| Bl i pIadl 39 Hfdded Urdal U R &l g
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) U8l & U= (R) 7O B

4. (A) 7T & TR (R) el &

Options :

21052916373. 1

21052916374. 2

21052916375. 3

21052916376. 4

Question Number : 45 Question Id : 2105294136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. Band D only

2. A, B and D only
3. B, D and E only

4 A B, DandE only
Options :
21052916377. 1
21052916378. 2
21052916379. 3
21052916380. 4

Question Number : 45 Question Id : 2105294136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id feu 71u e =g-HiHR JuEl H 9, 39 SUM (34 SUM) S S @ o/ srikfad @
&9 § Fifpd fbgr o godr s -

A. 91 deay

B. HIH - T &7 MR

C. 91g Eiftd &3 § R & W Sgl 36M
D. SHI BEHH

E. QO GRIGT D& DI Hoigd Hel
1 feu 7 fasedl # 9§ 98l S 9 -

1. ®3d B AR D

2. Pad A, B3R D
3. $aaB, D3R E
4, H3dA, B, D3R E
Options :
21052916377. 1
21052916378. 2
21052916379. 3
21052916380. 4

Question Number : 46 Question Id : 2105294137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
21052916381. 1
21052916382.2
21052916383. 3
21052916384. 4

Question Number : 46 Question Id : 2105294137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R & FHTAIS! GHS H TR W U JaRde] gl & Fafaiad 7 4 fod &1 o 9geg
(quadrivium) & {ld Fifepd fdaar T 7

A. TR

5. T

C. DI

D. I

E. E¥iid

1 fu 7w faeal # 9 Wel ST 94 -

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PaqaC, D 3MRE
4. H3dA DIHRE
Options :
21052916381. 1
21052916382. 2
21052916383. 3
21052916384 4

Question Number : 47 Question Id : 2105294138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education
Options :

21052916385. 1
21052916386. 2
21052916387. 3
21052916388. 4

Question Number : 47 Question Id : 2105294138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
9 2003 H HHE YHIEH GBI HAGT (MHRD) BRI AP WEff1e! Yafdla Hferms sriss
(NPTEL) &I FHIRad &1 Turadl § YR $3 & o I fo g1 741 o

1. i f2ram

2. Py 2&m

3. goil-a fame
4, fafere f2re
Options :
21052916385. 1
21052916386. 2
21052916387. 3
21052916388. 4

Question Number : 48 Question Id : 2105294139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052916389. 1
21052916390. 2
21052916391. 3
21052916392. 4

Question Number : 48 Question Id : 2105294139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g wﬁmmﬁzm; § [4IRd YUy 9oy Tedl (T.3150) $1 4 db W 5T &H

1. 2025
2. 2030
3. 2035
4, 2040

Options :

21052916389. 1
21052916390. 2
21052916391. 3
21052916392. 4

Question Number : 49 Question Id : 2105294140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

l. Professors, teachers and researchers working
A. Mode 1 - Cross border supply sheciad on @ tempory b

Il. Language training companies, Local
B. Mode 2 - Consumption abroad . g, J g P
university and Satellite campuses

. Ill. Distance education, Virtual education,
C. Meode 3 - Commercial presence o
Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

TA-IWV,B-LC-1L,D-1I
ZA-ILB-IW,C-1LD-|
JA-ILB-ULC-LD-V
4 A-1L,B-ILC-IV,D-1l
Options :

21052916393. 1
21052916394. 2
21052916395. 3
21052916396. 4

Question Number : 49 Question Id : 2105294140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TR frare SR Thed

B.Ugld-2: faa=mrd 1. v ufRiamr srufal, =i fayfaeney ok
Gud Jeage oad

C. UGfa-3 : aifvifsas 1. 3 91 &1 & g1y O greufRian, syt fRaf,
IR @URE TiIE

D. UGid-4 : Widpfa®  |Iv. Bis [qondf 3reag- & it ursgss / Tl
g3l @1 AEFET [ @EHE H AHiE & o8 guL o% 9Idl &

S R e R R e

TLA-IW,B-1,C-1,D-1
ZA-ILB-IV,C-Il,D-1
JA-ILB-LC-1,D-V
4 A-1,B-I,LC-1V,D-1I
Options :

21052916393. 1
21052916394. 2
21052916395. 3
21052916396. 4

Question Number : 50 Question Id : 2105294141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ashtadhyayi was written by

1. Chanakya

2. Jivaka

3. Katyayana
4. Panini
Options :
21052916397. 1
21052916398. 2
21052916399. 3
21052916400. 4

Question Number : 50 Question Id : 2105294141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HPTEAM] P TGP T :

Options :

21052916397. 1
21052916398. 2
21052916399. 3
21052916400. 4

PART II Defence and Strategic Studies
Section Id : 21052946
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529108
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105294142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

While discussing 'Statesmanship in its Relations to War' in the book The Art of War, the author
has mentioned about ‘wars of expediency; wars of intervention; and National wars'. Name the
author of the book.

1. Sun Tzu

2. Antoine Henri de Jomini
3. Niccolo Machiavelli

4, Carl Von Clausewitz
Options :

21052916401. 1
21052916402. 2
21052916403. 3
21052916404. 4

Question Number : 51 Question Id : 2105294142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



STl IR g © 59D §6Y $1 99 Bd g G I b aR' JE® H aEd o
STERFII Bl g 554U @1 45, ' [AaRYRI &1 g5’ 3R AP g &1 Sooid a1 g1 I
o tiRaD @ I A1 87

(kS
2. QeI g4l 1 SifE
3. e Afdardd

4, BTd I F3wAidest
Options :

21052916401. 1
21052916402. 2
21052916403. 3
21052916404. 4

Question Number : 52 Question Id : 2105294143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

'The contention that Democracies will not fight each other because the citizenry must consent,
and they do not want te pay the cost of war." Who mooted this idea?

1. Hans Morgenthau, Politics Among Nations

2. Immanuel Kant, Perpetual Peace: A Philosophical Sketch

3. Samuel P. Huntington, The Clash of Civilizations and the Remaking of World Order
4. Johan Galtung, Peace by Peaceful Means

Options :

21052916405. 1

21052916406. 2

21052916407. 3

21052916408. 4

Question Number : 52 Question Id : 2105294143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

TE Goiid 1o Alead 399 H 781 a1l adifd 39 fad AFIR® Jedid Sa%@® & 3R d 4%
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Options :

21052916405. 1

21052916406. 2

21052916407. 3

21052916408. 4

Question Number : 53 Question Id : 2105294144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who propounded that “"the ultimate ratio of power in International relations is war. Every act
of the state in its power aspect, is directed to war, not as a desirable weapon, but as a weapon
which it may require in the last resort to use?”

1. Carl Von Clausewitz
2. E. H. Carr

3. H.J. Morganthau

4. Quincy Wright
Options :
21052916409. 1
21052916410. 2
21052916411. 3
21052916412. 4



Question Number : 53 Question Id : 2105294144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SRV et F Wfek 1 IA TaY g 81 e o U, & Y H o9 P18 B g5 Bl 3R
SIdI & ol [ 3i6-1d 5fUaR T8 & dicd Ud UHl oiddR o orad] 3uan 3iftd U™ & w9 |
{51 oMU 59 @Y+ & UlduGAdd dH ¢ 2

1. BId g FI3Idca
2. 3TAPR

3. Td.oLHFH d13

4 fegrage
Options :
21052916409. 1
21052916410. 2
21052916411. 3
21052916412. 4

Question Number : 54 Question Id : 2105294145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the author of the book, The Third World Security Predicament: State Making, Regional
Conflict and the International System?

1. Blainey Geoffrey

2. Ashley Richard

3. Aron Raymond

4. Ayoob Mohammed
Options :
21052916413. 1
21052916414.2
21052916415.3



21052916416. 4

Question Number : 54 Question Id : 2105294145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘T YS e gagiiedl MiseHe : ¥ Ui Ro-a Siaee TS se-3Hd ey TN &
TEH DHEE 7

2. TS RS
3. WH TS
4. 39 HIgHT
Options :
21052916413. 1
21052916414. 2
21052916415.3
21052916416. 4

Question Number : 55 Question Id : 2105294146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WTOL refers to

1. Vertical Take off and Landing
2. Vertical Tactics of Landing

3. Various Types of Landing

4. Vertical Training of Landing
Options :

21052916417. 1

21052916418. 2

21052916419. 3

21052916420. 4



Question Number : 55 Question Id : 2105294146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gl R Eea s
1. A¢Hq cHAE TS afeT

2. fedhq cfaeq HTh afeT
3. 3RO W HE e
4. gfdaa ¢HRT it cife
Options :

21052916417. 1
21052916418. 2
21052916419. 3
21052916420. 4

Question Number : 56 Question Id : 2105294147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who invented the 'Telegraph'?

1. Grahm Bell

2. Samuel Morse
3. Albert Einstein
4. 1. C. Bose
Options :
21052916421. 1
21052916422. 2
21052916423. 3
21052916424. 4

Question Number : 56 Question Id : 2105294147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

TG B AfGHR fooa fpar ur 2

1. U9 o

2. T 1Y

3. Heae A
4 S WY
Options :
21052916421. 1
21052916422. 2
21052916423, 3
21052916424. 4

Question Number : 57 Question Id : 2105294148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Maore democracies in a region, the more peaceful region will be’ is related to

1. Dyadic democratic Peace
2. Systemic democratic Peace
3. Monadic democratic Peace
4, Classical democratic Peace
Options :

21052916425. 1

21052916426. 2

21052916427. 3

21052916428. 4

Question Number : 57 Question Id : 2105294148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Torg & & fS7a Tidda 8171, 98 &7 So- &1 iftd 9ol 51T % fored Safta © 2

2. Feafed SHbles Uiy
3. AHIS S SHisblcd Ui
4, GG SHisbic® U
Options :

21052916425. 1
21052916426. 2
21052916427. 3
21052916428. 4

Question Number : 58 Question Id : 2105294149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The recent UN climate change conference, also known as 'COP25', was held in

1. Singapore
2. Bangkok

3. Brasilia

4. Madrid
Options :
21052916429. 1
21052916430. 2
21052916431.3
21052916432. 4

Question Number : 58 Question Id : 2105294149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gl &l H Ugod Y Siaiarg URad- e, foret 91 ff i 25 & 13 9 +ff SIH1 511 8, goiT o -

2. 41D

3. Ifetfern

4. 953
Options :
21052916429. 1
21052916430. 2
21052916431.3
21052916432. 4

Question Number : 59 Question Id : 2105294150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The second 'BIMSTEC Disaster Management Excercise on Flood Rescue' was held at

1. Golden Beach, Chennai

2. Ramchandi Beach, Puri, Odisha
3. Marina Beach, Chennai

4, Juhu Beach, Mumbai

Options :

21052916433. 1

21052916434. 2

21052916435.3

21052916436. 4

Question Number : 59 Question Id : 2105294150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



a1¢ 5919 § TR gORl fRIc® MUa] HeeH 31 gaf 4 -

3. AT 99
4, Jg ¥, 49

Options :

21052916433. 1
21052916434. 2
21052916435. 3
21052916436. 4

Question Number : 60 Question Id : 2105294151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who is the author of Indian Strategic Thought: An Interpretive Essay?

1. K. Subrahmanyam
2. Stephen P. Cohen
3. George Tanham
4. Ashley J. Tellis
Options :
21052916437. 1
21052916438. 2
21052916439. 3
21052916440. 4

Question Number : 60 Question Id : 2105294151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1/

e eow e W ita T s dEs e 8 ?

1. . gEHUEH
2. %A UL @ied
3. I d-gd

4, T9d o, e
Options :
21052916437. 1
21052916438. 2
21052916439. 3
21052916440. 4

Question Number : 61 Question Id : 2105294152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
India's 'Anti-satellite test’ was code-named

1. OP Shakti

2. OP Abhedya
3. OP Vijay

4. OP Azkash
Options :
21052916441. 1
21052916442. 2
21052916443. 3
21052916444. 4

Question Number : 61 Question Id : 2105294152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YRd o ‘I9Ue AU THar & ®is S o1 219 foar 1 o 7

1. 319 Tfad

2. 31T 34
3. 1Y faerg
4, 31T HTDH
Options :
21052916441. 1
21052916442. 2
21052916443. 3
21052916444 4

Question Number : 62 Question Id : 2105294153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who amongst the following remarked, 'Chinese communists are different from other
communists because the Chinese have mastered the "art of lie” so well that truth will
sometimes find it difficult to survive'?

1. Donald Trump
2. George W. Bush
3. Richard Nixon
4. Dalai Lama
Options :
21052916445. 1
21052916446. 2
21052916447. 3
21052916448. 4

Question Number : 62 Question Id : 2105294153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. S 2
2. 9Tl S& §X1
3. gs A

4. TS AT
Options :
21052916445. 1
21052916446. 2
21052916447. 3
21052916448. 4

Question Number : 63 Question Id : 2105294154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Indian context, what is the implication of ratifying the ‘Additional Protocol’ with the
International Atomic Energy Commission( IAEC)?

1. The civilian nuclear reactors come under |AEC safeguards

2. The military nuclear installations come under the inspection of IAEA

3. The country will have the privilege to buy uranium from the Nuclear Suppliers Group (NSG)
4. The country automatically becomes a member of NSG

Options :

21052916449. 1

21052916450. 2

21052916451. 3

21052916452 4



Question Number : 63 Question Id : 2105294154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd & He H SRiFg uHE Sul i (3L U 9) & 9y ol AER @ide) &
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Options :

21052916449. 1

21052916450. 2

21052916451.3

21052916452. 4

Question Number : 64 Question Id : 2105294155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In April 2019, which satellite was launched by ISRO for electronic intelligence information?

1. ASTROSAT
2. ANISAT

3. EMISAT

4, MICRASAT
Options :
21052916453. 1
21052916454. 2
21052916455.3
21052916456. 4



Question Number : 64 Question Id : 2105294155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

STRI GRT 3 2019 T Scidel-a 919 Y1 UH & [O1U g 3Ue &1 Walgul fddn 71 412

1. TREIUT (ASTROSAT)
2, BT (ANISAT)

3. THIE (EMISAT)

4, IZHME (MICRASAT)
Options :

21052916453, 1
21052916454. 2
21052916455. 3
21052916456. 4

Question Number : 65 Question Id : 2105294156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The main objective of the Centre for Propulsion Technology (a part of DRDO) has been
mandated to which one of the following objectives?

1. Advanced collaborative research in outer space areas.

2. Advanced collaborative research in Star Wars.

3. Advanced collaborative research in defence technology areas
4. Advanced collaborative research on earth’'s surface

Options :

21052916457. 1

21052916458. 2

21052916459. 3

21052916460. 4

Question Number : 65 Question Id : 2105294156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Y BR UIYerH eHidlel (SI3RS13] 61 U 3{77) B &1 I53g Hufeied § 4 fogd ifacRd
g7

1. 3fafvel & a1 &1 § 39 9eant sgyHE
2. ¥R g/ § 39d Gednll g4

3. &1 U] &7 H I9d earh S
4, J] ] Gde U 39d Gegiifl g4
Options :

21052916457. 1

21052916458. 2

21052916459. 3

21052916460. 4

Question Number : 66 Question Id : 2105294157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the most important element in an insurgency movement?

1. Population support

2. Legal support

3. Technological support
4. Government support
Options :

21052916461. 1
21052916462. 2
21052916463. 3
21052916464. 4

Question Number : 66 Question Id : 2105294157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fafeiad ¥ 4 &HF fGge Guei=h i & [l aiftie Hewayll ®RE ¢ ?

1. S HErgdl
2. P! TeTddl

3. N Werd
4, TIBR] Terd
Options :
21052916461. 1
21052916462. 2
21052916463. 3
21052916464 4

Question Number : 67 Question Id : 2105294158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which Indian Naval Ship (INS) has commenced its two-month-long second mission "SAGAR
MAITRI' from Kochi, Southern Naval Command?

1. INS Vikrant

2. INS Makar

3. INS Sagardhawani
4. INS Sandhyak
Options :
21052916465. 1
21052916466. 2
21052916467. 3
21052916468. 4

Question Number : 67 Question Id : 2105294158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fafafaa o 9 forg uRdig 9191 Uid (318 T TE) 3 ST A $9H 9 9rR S5 e 6l

1. 15 U9 Y faspid

2. TS T 0 HY

3. TS U9 UH IFR 45
4, 3T% U U Y
Options :

21052916465. 1
21052916466. 2
21052916467. 3
21052916468. 4

Question Number : 68 Question Id : 2105294159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following is the first lady pilot of the Indian Nawy?

1. Sub Lieutenant Shivangi
2. Sub Lieutenant Sagarika
3. Sub Lieutenant Priyanka
4. Sub Lieutenant Sakshi
Options :

21052916469. 1
21052916470. 2
21052916471. 3
21052916472. 4

Question Number : 68 Question Id : 2105294159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

fraffad 39 $H YRGT 91991 $1 Ugd ARal Ugac & 7
1. 99, dftede g

2. g, difte-e grifiaT

3. gg, diftee firda

4, 99, tifde-c 9ief

11
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11

Options :

21052916469. 1
21052916470. 2
21052916471. 3
21052916472. 4

Question Number : 69 Question Id : 2105294160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following regions is known as the 'Lithium Triangle'?

1. Argentina, Bolivia and Chile

2. UAE, Saudi Arabia and lran

3. China, South Korea and Mongolia
4. Nigeria, Congo and Cameroon
Options :

21052916473. 1

21052916474. 2

21052916475. 3

21052916476. 4



Question Number : 69 Question Id : 2105294160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgfafad & 9 fog &7 @ g TR S TH A SHEI 9 6 2

1. i o1, dieiiaal, e

2. g US, THal 3E AR 3H

3. 914, Tigmr Sifar R dmfear
4, AR, BT 3R HHed

Options :

21052916473. 1
21052916474. 2
21052916475. 3
21052916476. 4

Question Number : 70 Question Id : 2105294161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one among the following islands is NOT located in the Indian Ocean?

1. Diego Garcia

2. Assumption Island
3. Fiji

4. Comoros Islands
Options :
21052916477. 1
21052916478. 2



21052916479. 3
21052916480. 4

Question Number : 70 Question Id : 2105294161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
4 E i&ﬁ ﬁﬁﬁqmﬁﬁﬁ%%ﬁ HeHMR ﬁf@lﬁ:@% ?
1. fewm midan

2, THIYH 133
3. fipsdt

o
Options :
21052916477. 1
21052916478. 2
21052916479. 3
21052916480. 4

Question Number : 71 Question Id : 2105294162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The new region CIS emerged after the

1. End of British Colonialism

2. Dissolution of Warsaw pact

3. Disintegration of Yugoslavia

4. Disintegration of the Soviet Union
Options :

21052916481. 1

21052916482.2

21052916483. 3



21052916484. 4

Question Number : 71 Question Id : 2105294162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiad 5 4 fogd a1e U &7 - H1.31S. TH. (CIS) BT H¥ad §afl U1 ?

1, fafe=r SufHa=m@ans @ sid
2. g4 Ude & a1

3. TG &1 fdge
4, gifggd 99 @1 fgueq

Options :

21052916481. 1
21052916482. 2
21052916483. 3
21052916484. 4

Question Number : 72 Question Id : 2105294163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which article of the Constitution of India deals with the promotion of international peace and
security?

1. Article 50

2. Article 51

3. Article 52
4. Article 53
Options :
21052916485. 1
21052916486. 2
21052916487. 3



21052916488. 4

Question Number : 72 Question Id : 2105294163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YR Sy & g arfese H SfaRivig Wifd SiR GR&M &1 9511 o &1 Ieuid 8 ?

1. 319G 50
2. 3G 51
3. 3wG 52
4. TG 53

Options :

21052916485. 1
21052916486. 2
21052916487. 3
21052916488. 4

Question Number : 73 Question Id : 2105294164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following European Union Countries has its own currency and has NOT
switched over to the Euro?

1. France

2. Germany
3. Sweden
4. Spain
Options :



21052916489. 1
21052916490. 2
21052916491. 3
21052916492. 4

Question Number : 73 Question Id : 2105294164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafiad g QUi U9 & G2 @1 3U-1 931 & SR 39 9U el SHAl g ?

1. 19
2, ST
3. Wred
4 |4

Options :

21052916489. 1
21052916490. 2
21052916491. 3
21052916492. 4

Question Number : 74 Question Id : 2105294165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which Indian satellite has been recently launched from French Guiana?

1. GSAT-32

2. GSAT-30

3. GSAT-29

4, GSAT-31
Options :
21052916493. 1
21052916494. 2
21052916495. 3
21052916496. 4

Question Number : 74 Question Id : 2105294165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fofeiad o 4 fog YRAY SUUE ® 51d ol | d T3fHT ¥ Haiud fbar T g 2

1.9 ¥ - 32
2. Sl YT - 30
3. Sl YT - 29
4,9 Te - 31

Options :

21052916493. 1
21052916494. 2
21052916495. 3
21052916496. 4

Question Number : 75 Question Id : 2105294166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Who has developed the world's first bulletproof helmet against AK- 47 bullets under Project
Abhedya?

1. Mohit Mishra
2. Devashish Das
3. Das Mohanty
4. Anoop Mishra
Options :
21052916497. 1
21052916498. 2
21052916499. 3
21052916500. 4

Question Number : 75 Question Id : 2105294166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafaa & 3 fogq sy uldierr & sidifd ud, 47 ot 1ifedl O 594 & e yga [dy &1 gole
b goiHe Sl 6 ?

1. Hifgd
2. Ay a™
3. G Algdl
4. 37 Ay

Options :
21052916497. 1
21052916498. 2



21052916499. 3
21052916500. 4

Question Number : 76 Question Id : 2105294167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to stockholm International Peace Research Institute (SIPRI), which country retained
the position of the largest arms importer during 2015-19.

1. China

2. Australia

3. India

4, Saudi Arabia
Options :
21052916501. 1
21052916502. 2
21052916503. 3
21052916504. 4

Question Number : 76 Question Id : 2105294167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 94
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Options :

21052916501. 1
21052916502. 2
21052916503. 3
21052916504. 4

Question Number : 77 Question Id : 2105294168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the four subsets of Aerospace Defence

1. Identification, Interception, Disruption and Defence

2. ldentification, Detection, Interaction and Offence

3. Detection, |dentification, Interception and Destruction
4, Detection, ldentification, Interaction and Destruction
Options :

21052916505. 1

21052916506. 2

21052916507. 3

21052916508. 4

Question Number : 77 Question Id : 2105294168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TG Y& &7 & IR IS (@adcy) ®I 9gdH 31
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Options :

21052916505. 1
21052916506. 2
21052916507. 3
21052916508. 4

Question Number : 78 Question Id : 2105294169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The 'RLSA’, signed between Indian and Russia in 2019 refers to

1. Reciprocal Logistics Support Agreement

2. Regional, Local and Sub-area Agreement

3. Regional Legistics Supply Agreement

4. Reciprocal Logistics Supply chain Agreement
Options :

21052916509. 1

21052916510. 2

21052916511. 3

21052916512. 4

Question Number : 78 Question Id : 2105294169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052916509. 1
21052916510.2
21052916511. 3
21052916512. 4

Question Number : 79 Question Id : 2105294170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Major General Qassem Solemani, commander of the elite Quds forces of the Iranian
Revolutionary Guards Corps was killed in

1. Iran

2. Turkey

3. Syria

4. Irag
Options :
21052916513. 1
21052916514. 2
21052916515. 3



21052916516. 4

Question Number : 79 Question Id : 2105294170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HoR SFRa DI TICHAT, S 33 & AR 6 BR & GHGR $ad iy & BHisT 4, B
HEI AR I ?

1. 3XH

2. gl

3. Ttz

4. NP
Options :
21052916513. 1
21052916514. 2
21052916515.3
21052916516. 4

Question Number : 80 Question Id : 2105294171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the writer of Three Approaches to Peace: Peacekeeping, Peacemaking and
Peacebuilding?

1. Johan Galtung

2. Boutrus Boutrus Ghali
3. William Zartman

4. Peter Wallensteen
Options :

21052916517. 1
21052916518. 2



21052916519. 3
21052916520. 4

Question Number : 80 Question Id : 2105294171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ol U= ¢ U - Ui @it Ui |id vs Uie st & dea &1 8 2

1. Slg- TTagT

2. gavd ga3d gl
3. fafegy wea
4, Ul goE A
Options :
21052916517. 1
21052916518.2
21052916519. 3
21052916520. 4

Question Number : 81 Question Id : 2105294172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who stated that "the aspiration for power on the part of several nations, each trying either to
maintain or overthrow the status quo, leads to the necessity of a configuration that is called
balance of power and to policies that aim at preserving it"?

1. E. H. Carr

2. H. ). Morganthau
3. Quincy Wright

4. David A. Baldwin
Options :
21052916521. 1



21052916522. 2
21052916523. 3
21052916524. 4

Question Number : 81 Question Id : 2105294172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fog g1 Ul e o3 Pl H ek 8 HAearsiaT, e Ude AP gUIiyfd $1 41T &1 71 3
TETH IIEd] &, 39 TEUU (@A) B HETIHl B1 R o Tdl & Ford e P e
HET ST & 3R UH fifagt §912 ardi 2 e SR g8 REd s el gl -

1.3.0d. BR

2. TN, qRTyg

3. gl uge

4, 895 U Tresfad
Options :
21052916521. 1
21052916522. 2
21052916523. 3
21052916524. 4

Question Number : 82 Question Id : 2105294173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who declared that “threads to International peace and security could come from non-military
sources of instability in the economic, social, humanitarian and ecological field"?

1. Economic and Social Council
2. The General Assembly

3. European Union

4. Security Council



Options :

21052916525. 1
21052916526.2
21052916527. 3
21052916528. 4

Question Number : 82 Question Id : 2105294173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e =i fepar o o sicRifia ifdr ik QRan &f War1 e, YT, Araddre 3R

1, AT AR IETf® UREg
2, FETHHI (G oFRa TEwEa)
3. R 4y

4, GR&1 URYG

Options :

21052916525. 1
21052916526. 2
21052916527. 3
21052916528. 4

Question Number : 83 Question Id : 2105294174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

INF Treaty signed by the US and the Soviet Union was aimed to ban conventional and nuclear-
capable missiles with a range between

1. 500-5500 kilometers

2. 1500-4500 kilometers
3. 1500-5000 kilometers
4. 2500-4500 kilometers



Options :

21052916529. 1
21052916530.2
21052916531. 3
21052916532. 4

Question Number : 83 Question Id : 2105294174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TG o7 SEIHT R WiTd ¥ & & 53 31k T U Ui &1 3534 Fafeiea o a3
el TORATG HIR TR SR o o o &M fHrgel oR ufdesy rTHr o 2

1. 500 ¥ 5500 &t
2. 1500 ¥ 4500 et
3. 1500 ¥ 5000 et
4, 2500 ¥ 4500 Tt
Options :
21052916529. 1
21052916530, 2
21052916531. 3
21052916532. 4

Question Number : 84 Question Id : 2105294175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to John Galtung, 'Positive Peace’ is

1. Absence of cultural viclence
2. Absence of structural violence
3. Absence of direct violence

4. Absence of nature's violence



Options :

21052916533. 1
21052916534.2
21052916535.3
21052916536. 4

Question Number : 84 Question Id : 2105294175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SiTe TAgT & SI9R GERIES it (@rhviied 4i9) -

1. GiEpidem 691 &1 3(H1g

2. W (gads) 69 @1 3HE
3. Ucaef fg1 &1 31H1d

4. Uopfd & g1 1 341G
Options :

21052916533. 1

21052916534. 2

21052916535. 3

21052916536. 4

Question Number : 85 Question Id : 2105294176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Article 371 A is applicable to the State of

1. Nagaland
2. Manipur
3. Assam

4. Tripura
Options :



21052916537. 1
21052916538. 2
21052916539. 3
21052916540. 4

Question Number : 85 Question Id : 2105294176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HgwsG 371 @ fh g Uog W TR 6 ?

2. AfirgR

3. dAHH

4. gy
Options :
21052916537. 1
21052916538. 2
21052916539. 3
21052916540. 4

Question Number : 86 Question Id : 2105294177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under the 'Make in India Programme’, the Government of India has opened the defence sector
for private investment and the cap for such investment has been increased to

1. 26 per cent
2. 49 per cent
3. 100 per cent
4. 74 per cent
Options :
21052916541. 1



21052916542. 2
21052916543. 3
21052916544. 4

Question Number : 86 Question Id : 2105294177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YRd TGN - ' Od 29 of3ar URg & 3idiid &1 83 &f el Fe & fou wie fgar g v ug
9% &1 I=an Ui e feadl ST © 2

1. 26 Ufd=rd
2. 49 gfa=rd
3. 2d Ufd=id
4. 74 Ufq9rd
Options :
21052916541. 1
21052916542, 2
21052916543 3
21052916544 4

Question Number : 87 Question Id : 2105294178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name of the 200 km strike range tactical ballistic missile being developed by
DRDO?

1. Pranash

2. Prahar

3. Pratishodh
4, Prashant
Options :



21052916545. 1
21052916546. 2
21052916547. 3
21052916548. 4

Question Number : 87 Question Id : 2105294178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

21 AR 2T 3 gRI faefad &1 91 38T 200 [ AR &Hdr gl Slaedhd siae® g @ 99
g7

1. UHT=I

2. UeRR

3. gl

4. J=1d
Options :
21052916545. 1
21052916546. 2
21052916547. 3
21052916548. 4

Question Number : 88 Question Id : 2105294179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Operation Triveni deals with

1. Creating a wedge between the local people and Naxalites

2. Cutting the logistics and supply lines of persons indulging in Maoist activities

3. Logistics support to paramilitary forces engaged in controlling left wing extremism
4. Bringing awareness amongst the people

Options :

21052916549. 1



21052916550. 2
21052916551. 3
21052916552. 4

Question Number : 88 Question Id : 2105294179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HTUEH il &1 Gy 3 -

1. R S 2 il & o 915 el &l

2. Hifiard) afafial § o cafdadl & 94R oF AR Hgfd eyl @ @12 &A1
3. GO TREUY B H4Hd B ad e O gl f GYR 939 & Geldl el
4. AT & o9 ARGl dHFl

Options :

21052916549. 1

21052916550 2

21052916551. 3

21052916552. 4

Question Number : 89 Question Id : 2105294180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The theme of the 45" G-7 Summit is

1. Fighting for Rohingyas
2. Fighting Injustice

3. Fight for Peace

4. Fighting Inequality
Options :

21052916553. 1
21052916554. 2
21052916555. 3



21052916556. 4

Question Number : 89 Question Id : 2105294180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

45 9 off-7 TRER 911 BT IERT & -

1. Temar & oW Igd He1

2. 310 & [9%E 4oy @Al

2. T1ifd o foro dud &ean

4, Al & (GG 99y Sl
Options :

21052916553. 1

21052916554. 2

21052916555. 3

21052916556. 4

Question Number : 90 Question Id : 2105294181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Biological Weapons Convention was signed in the year

1. 1968

2. 1990
3.1972

4. 1996
Options :
21052916557. 1
21052916558. 2
21052916559. 3
21052916560. 4



Question Number : 90 Question Id : 2105294181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sia® - BIUOR THEAY (@) IR BEI6R b9 au | gl 4T 2

1. 1968

2. 1990

3. 1972
41996
Options :
21052916557. 1
21052916558. 2
21052916559. 3
21052916560. 4

Question Number : 91 Question Id : 2105294182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the Asia Pacific Group?

A. A regional association of ASEAN countries against nuclear proliferation

B. A regional body for the prevention of money laundering and terror financing
C. A regional association of Asian countries for the conservation of eco-system
D. Its headquarters is in Australia

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3. A and C only
4. B and D only
Options :
21052916561. 1
21052916562. 2
21052916563. 3
21052916564. 4

Question Number : 91 Question Id : 2105294182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR - YRIid 995 15 ?

A. TRHIY] Y9R & [d% STRgH G2 ®1 TS &6 99|

B. YFRITYH U4 HATdHalg [aauiyy &l s+ &g Ud &A1 Hor|
C. UTR - T & & 6 UGS G2l &1 Ui &E1Y H1a-|

D. 3HOT HEITHY SREferar # 2

i fu e fawed! & € 9t Iw g

1. Bad A, B

2. PaaC, D
3. PAUA, C
4, HddAB, D
Options :
21052916561. 1
21052916562 2
21052916563 3
21052916564. 4

Question Number : 92 Question Id : 2105294183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who has developed new generation wargaming software for the Indian Navy?

1. Space X

2. NASA

3. ISRO

4, DRDO
Options :
21052916565. 1



21052916566. 2
21052916567 3
21052916568. 4

Question Number : 92 Question Id : 2105294183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YR F1EAT & 8 = SRR GRAE Sifeaay ey dor fear g 2

A, T X

. A

C.FWI

D. 1 3R Bl 31l

i feu U f9eedl § 4 aiiee 3uged 3wk gHU :

1.HaAC, D
2. BaAA, B

3. ®ada D

4, A C
Options :
21052916565, 1
21052916566. 2
21052916567. 3
21052916568. 4

Question Number : 93 Question Id : 2105294184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The IAF recently inducted Apache - AH 64E helicopters. Identify its features

A. It is the most advanced multi-role heavy attack helicopter in the world

B. Its is a joint venture of India and US

C. Its cockpit is bulletproof

D. It is an all-weather capable and has high survivability against battle damage
Choose the correct answer from the options given below

1. A, B and C only

2. A, B and D only

3. A, B, Cand D only
4. A, Cand D only
Options :
21052916569. 1
21052916570. 2
21052916571. 3
21052916572. 4

Question Number : 93 Question Id : 2105294184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YR dRg U1 - BIci 81 H 30 G H 31Ul - U Ud 64 5 sali®IER &l LA 6l | 59db
faeiadr @1 ugaH Sifoe ;

A. T G141 &1 994 39d dgfHd1 aren U 89 & G4 edidIge ol
B. 48 HIRd 3R Igad Iy ] & Hgdd SUHH

C. SUPI DIHIUE goey® oidl ol

D. T8 9Re HIE Tivadl € gad oidl & 3R S H &fauvd 8 W 390 a4 64 ®f GHIE 954
i@ gidl o

513 fog T et 71 @ T8 SR AR

1. B3 A, B, C
2. Pad A, B, D
3.A B,CD

4 HIAA, C, D
Options :
21052916569. 1
21052916570. 2
21052916571. 3
21052916572. 4

Question Number : 94 Question Id : 2105294185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the two British warships that were sunk by Japanese planes during World War Il
A. Prince of Wales

B. Yamato

C. Harrier

D. Repulse

Choose the correct answer from the options given below

1. A and B only
2. Cand D only
3. A and D only
4. A and C only
Options :
21052916573. 1
21052916574.2
21052916575. 3
21052916576. 4

Question Number : 94 Question Id : 2105294185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



3% g5 1| & SR, SUH & faqF! A & f8fes gguid gal feu| 3991 dgdH DI :
A, il o 3
3. UHIEN

C. 8T
D. Rueg
id feu e fasedl & ¥ 981 IR 9T

1. Bad A, B

2. PaaC, D
3. PaAA, D
4, HIAA, C
Options :
21052916573. 1
21052916574. 2
21052916575. 3
21052916576. 4

Question Number : 95 Question Id : 2105294186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept of "Monadic Democratic Peace’ refers to :
A. The democracies are more peaceful in their relations with all other states in the system
B. The democracies are more peaceful in their relations with other democracies

C. The more democracies there are in a region or the international system, the more peaceful
the region or international system will be

D. There is not any significant relationship between democracy and peace
Choose the correct answer from the options given below

1. D only
2. C only
3. A only
4. B only
Options :
21052916577. 1
21052916578. 2
21052916579. 3
21052916580. 4

Question Number : 95 Question Id : 2105294186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HHAITSH SHishicH UG B TR BT HGH §

A. T Y 37U+ sgawd H 30 GH AP o 1Y (U Yaieil § Sgral 2ifagul R A gid 81
B. TP dia® G2 30 Tl & 39 Tidda & 91y saral Mool fufd 3 gid 81

c. Tl & 3rua SRIPY ouawul 3 S1aT Al gl 4 98 &5 3fudl g8 HcRIPa o wral
zriferguf fRufy & g

D. Tidhad U4 TNifd & 99 Pls Seeig-1g 99 ol gidll

d faw 71t faeedl 9 4 el IR g

1. ®3d D
2. PaaC
3. Pad A
4, H3d B
Options :
21052916577 1
21052916578. 2
21052916579. 3
21052916580. 4

Question Number : 96 Question Id : 2105294187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?
A. Geopolitics examines, the political, economic and strategic significances of geography.

B. AT Mahan in his book The Influence of Seapower Upon History describes sea power is
necessary to facilitate trade and peaceful commerce.

C. The doctrine of geopolitics gained attention largely through the work of H. Mackinder in
England.

Choose the correct answer from the options given below

1. A and C only
2. A and B only
3. B and C only
4 A BandC
Options :
21052916581. 1
21052916582.2
21052916583. 3
21052916584. 4

Question Number : 96 Question Id : 2105294187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad 9ol &1 UgH S Giioie ;
A, H - TSI YT & XeHidd Sfidd td 9mie dew D1 GHIET Hdl o

B. U €1 HeH A SUH| fbard & 3UIud b Il UiaR 3ui4 i H g8 qui fdar ¢ fdb samuR ud
Fifagul AIitreg &I Yo s 8q GHs! didd si-l HGgd o |

C. Y - Ioifa & FISid - TEa: 2A0Us & Ud. AdbEUs & ®i 4 Jao! & did(|
i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. BT A, C
2. Pad A, B

3. $aAB, C
4.AB,C
Options :
21052916581. 1
21052916582. 2
21052916583. 3
21052916584. 4

Question Number : 97 Question Id : 2105294188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following countries share boundaries with the Persian Gulf?
A. Iran

B. Saudi Arabia

C. Syria

D. Kuwait

E. Ethiopia

Choose the correct answer from the options given below

1. A, C and E only
2. B, C and D only
3. B, C and E only
4. A B and D only
Options :
21052916585. 1
21052916586. 2
21052916587. 3
21052916588. 4

Question Number : 97 Question Id : 2105294188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fofeafaa o ¢ foa <arf & Jian oRY & 9ret 9 @i g 2
A 3

E. Suifgar
4 fou T fawenl © ¥ 98 S I

1. ®3d A, B, E
2. PaAB, C, D
3. PaAAB, G, E
4, HddA B, D
Options :

21052916585. 1
21052916586. 2
21052916587. 3
21052916588. 4

Question Number : 98 Question Id : 2105294189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are security issues?

A. Coronavirus is a health security issue

B. Jungle fire is an environmental security issue

C. Governance is a political security issue

D. Drug trafficking is an economic security issue

Choose the correct answer from the options given below

1. A, Cand D only
2. B, C and D only
3A B CandD
4. A B and Conly
Options :
21052916589. 1
21052916590. 2
21052916591. 3
21052916592. 4

Question Number : 98 Question Id : 2105294189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Y& Hee HE1 B UgaH Dol

A. DRIFTGERY Uoh W &1 1 55 6
B. STd I AT U UAIaR0 GR&f &1 Hel o
C. TG U Ae-iad Y& &1 gal ¢ |

D. Gar3fl @1 a3l Ud HTUD GR&M b1 75l ¢
- feu v fasedl ¥ ¥ 9El S 9T

1. $dd A, C, D
2. HdA B, C, D

3ABCD

4, HAd A, B, C
Options :
21052916589. 1
21052916590. 2
21052916591. 3
21052916592. 4

Question Number : 99 Question Id : 2105294190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In Aerial Warfare, John Boyd's OODA Loop stands for

A. Decide

B. Act

C. Observe

D. Action

E. Orient

Choose the correct answer from the options given below

1.C, E, A and D only
2.C, E, Aand B only
3.E C, Aand D only
4. E C Aand B only
Options :
21052916593. 1
21052916594. 2
21052916595. 3
21052916596. 4

Question Number : 99 Question Id : 2105294190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



5an s Ul S ddu S sis & S st St uqu ar i 2 -

MBI ERIES)
B. fohdl (Wae)

C. 3gaid (3Mea1a)

D. HRATg (TR

E. 914 (3fRT)

% R e et & @ d SR 9R:
1. $dAC, E A D

Options :

21052916593. 1
21052916594. 2
21052916595. 3
21052916596. 4

Question Number : 100 Question Id : 2105294191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the models of the international system developed by Morton Kaplan in Systems

Theory.

A. Balance of Power System

B. The Universal International System

C. Collective security system

D. The veto system

Choose the correct answer from the options given below

1. A, B and D only
2. A, B and C only
3. A, Cand D only
4. B, C and D only
Options :
21052916597. 1
21052916598. 2
21052916599. 3
21052916600. 4

Question Number : 100 Question Id : 2105294191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HIEq B gR1 ey U # 9o iid fou e SiRiy sagwr & Hisdl ®f UgdH S ;
A. Tfe-dgaH o

8. QD Rig o

C. OiHfeD & o=

D. didi oA

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. ®dd A, B, D
2. PAUA, B, C
3. PAAA, C, D
4, ®ddAB, C, D
Options :

21052916597. 1
21052916598. 2
21052916599. 3
21052916600. 4

Question Number : 101 Question Id : 2105294192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the tools to secure national interests

A. Balance of Power

B. Diplomatic decisions

C. Collective security

D. The use of force

Choose the correct answer from the options given below

1. A, B and C only
2. A, Cand D only
3. B, Cand D only
4 A B CandD
Options :
21052916601. 1
21052916602. 2
21052916603. 3
21052916604. 4

Question Number : 101 Question Id : 2105294192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



APTY fgdl &l YR D ard Tei &l UgaH &1 :
A. ifad Eqad

B. Be-iiad U

C. GiHe® 4T

D. 90 &1 WG
i feu T faeedl § 9 98l o g

1. B3 A, B, C
2. PadA, C, D
3. PaAB, C, D
4.A.B,CD
Options :
21052916601. 1
21052916602. 2
21052916603. 3
21052916604 4

Question Number : 102 Question Id : 2105294193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Idenitfy the pacific approaches to resolve conflicts in International Relations.
A. Dialogue and diplomacy

B. Pacific blockade

C. Mediation

D. Good offices of the U N

Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and C only
3. B, Cand D only
4. A B and D only
Options :
21052916605. 1
21052916606. 2
21052916607. 3
21052916608. 4

Question Number : 102 Question Id : 2105294193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A, C, D
2, PAUA, B, C
3. PaAB, C, D
4, ®ddA B, D
Options :

21052916605. 1
21052916606. 2
21052916607. 3
21052916608. 4

Question Number : 103 Question Id : 2105294194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the prominent ethnic groups in Afghanistan

A. Tajiks

B. Pashtuns

C. Hazaras

D. Kurd

Choose the correct answer from the options given below

1. A, Cand D only

2. B, C and D only

3. A, Band C only

4. A B, Cand D only
Options :
21052916609. 1
21052916610. 2
21052916611. 3
21052916612. 4

Question Number : 103 Question Id : 2105294194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A, C, D
2. PaAB, C, D
3. PAUA, B, C
4. A B,CD
Options :
21052916609. 1
21052916610. 2
21052916611. 3
21052916612. 4

Question Number : 104 Question Id : 2105294195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the ship(s) which participated in the naval exercise ‘SIMBEX-19’
A. INS Vikrant

B. INS Kolkata

C. INS Arihant

D. INS Shakti

Choose the correct answer from the options given below

1. A and D only

2. A, B and D only
3. B, Cand D only
4. B and D only
Options :
21052916613. 1
21052916614. 2
21052916615. 3
21052916616. 4

Question Number : 104 Question Id : 2105294195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3 A, D

2. Pad A, B, D
3. PaAB, C, D
4, HddAB, D
Options :
21052916613 1
21052916614. 2
21052916615. 3
21052916616. 4

Question Number : 105 Question Id : 2105294196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Systems Approach
A. is regarded as a helpful approach to the study of International Politics/ relations.
B. was introduced during World War |

C. can be used for both macroscopic as well as microscopic studies of regional sub-system
which forms part of International system.

D. studies International Relations as a system of behaviour of International actors
Choose the correct answer from the options given below

1. A, B and C only
2. B, C and D only
3. A, Cand D only
4. A B and D only
Options :
21052916617. 1
21052916618. 2
21052916619. 3
21052916620. 4

Question Number : 105 Question Id : 2105294196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3 A, B, C
2. PaAB, C, D
3. PAdA, C, D
4, Had A, B, D
Options :

21052916617. 1
21052916618. 2
21052916619. 3
21052916620. 4

Question Number : 106 Question Id : 2105294197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding "Vyommitra' is/ are correct?

A. It is a half humanoid developed by ISRC.

B. It can converse with the astronauts and can also respond to their queries.
C. It is a joint venture of India and Japan

D. It is a lady robot related to India’s unmanned space mission

Choose the correct answer from the options given below

1. A and D only

2. A, B and D only
3. B, Cand D only
4 A B CandD
Options :
21052916621. 1
21052916622. 2
21052916623. 3
21052916624. 4

Question Number : 106 Question Id : 2105294197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A, C, D
2. Pad A, B, D
3. PaAB, C, D
4.A.B,CD
Options :
21052916621. 1
21052916622. 2
21052916623. 3
21052916624. 4

Question Number : 107 Question Id : 2105294198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The wargaming software inducted by the Indian Navy in 2019 has which of the following
features?

A. This software is developed by IIT, Mumbai

B. Its aims are to meet the contemporary operational and tactical level wargaming requirement
of the Indian navy

C. It is developed by DRDO's lab in collaboration with Vishakhapatnam based Maritime
Warfare Centre

D. It can also be used by the Indian Air force
Choose the correct answer from the options given below:

1. B, C and D only

2. B and C only

3. A, Cand D only
4. A B, Cand D only
Options :
21052916625. 1
21052916626. 2
21052916627. 3
21052916628. 4

Question Number : 107 Question Id : 2105294198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3a B, C AR D

2. PaaB 3R C

3. PadA, C AR D
4, HdAA, B, C3IRD
Options :
21052916625. 1
21052916626. 2
21052916627. 3
21052916628. 4

Question Number : 108 Question Id : 2105294199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the rivers which do not respect the political borders laid down by men and flow freely
from one state to another

A. The Amazon

B. The Rio Grande

C. The Nile

D. The Brahmaputra

Choose the correct answer from the options given below

1. A and C only

2. B and D only

3. A, Cand D only
4. B, C and D only
Options :
21052916629. 1
21052916630. 2
21052916631. 3
21052916632. 4

Question Number : 108 Question Id : 2105294199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BT A, C

2. Pad B, D

3. PaAA, C, D
4, ®ddAB, C, D
Options :
21052916629. 1
21052916630. 2
21052916631. 3
21052916632. 4

Question Number : 109 Question Id : 2105294200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify The Millenium Development Goals of the United Nations Organisation.
A. Eradicate extreme hunger and Poverty

B. Check drug trafficking and money laundering

C. Promote Gender Equality

D. Control small arms proliferation

Choose the most appropriate answer from the options given below

1. A and C only

2. B, C and D only
3. B and D only

4. A B and Conly
Options :
21052916633. 1
21052916634. 2
21052916635. 3
21052916636. 4

Question Number : 109 Question Id : 2105294200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BT A, C
2. PaAB, C, D
3. PaA B, D
4, HIAA, B, C
Options :
21052916633 1
21052916634. 2
21052916635. 3
21052916636. 4

Question Number : 110 Question Id : 2105294201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Su 30 MK | of Indian Air Force

A. is a twin-engine multi-role fighter

B. can carry 8000 kg external armament

C. has a maximum speed of 2500 km/hr

D. has a maximum speed of 2000 km/hr

E. is a single-engine multi-role fighter

Choose the most appropriate answer from the options given below

1. A, B and C only
2. A, B and D only
3. E Band C only
4. E B and D only
Options :
21052916637. 1
21052916638. 2
21052916639. 3
21052916640. 4

Question Number : 110 Question Id : 2105294201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3 A, B, C
2. Pad A, B, D
3. PAAE, B, C
4, BIAE B, D
Options :

21052916637. 1
21052916638. 2
21052916639. 3
21052916640. 4

Question Number : 111 Question Id : 2105294202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



After the 1962 war of India - China, Henderson Brooks-Bhagat Committee was constituted to
review

A. Training

B. Equipment

C. System of command

D. Defence pacts

E. Military aid

Choose the most appropriate answer from the options given below

1. B, D and E only
2. C, D and E only
3. A, B and D only
4. A B and Conly
Options :
21052916641. 1
21052916642. 2
21052916643. 3
21052916644. 4

Question Number : 111 Question Id : 2105294202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3d B, D, E
2. PaAC, D, E
3. PAAE B, D
4, HIAA, B, C
Options :

21052916641 1
21052916642. 2
21052916643. 3
21052916644, 4

Question Number : 112 Question Id : 2105294203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Structural viclence includes

A. Apartheid

B. Poverty

C. Hunger

D. Terrorism

E. Riots

Choose the correct answer from the options given below

1. A, D and C only
2. A, B and C only
3. A, Cand E only
4. B, D and E only
Options :
21052916645. 1
21052916646. 2
21052916647. 3
21052916648. 4

Question Number : 112 Question Id : 2105294203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A, D, C
2. PAUA, B, C
3. PadA, G E
4, $3daB, D, E
Options :

21052916645, 1
21052916646. 2
21052916647. 3
21052916648. 4

Question Number : 113 Question Id : 2105294204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to UNHRC, which of the following are in the list of top five countries from where the
refugees originate?

A. Afghanistan

B. Bangladesh

C. Sri Lanka

D. Syria

E. South Sudan

Choose the correct answer from the options given below

1. A, B and E only
2. A, B and C only
3. A, DandE only
4. B, C and D only
Options :
21052916649. 1
21052916650. 2
21052916651. 3
21052916652. 4

Question Number : 113 Question Id : 2105294204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3d A, B, E
2. PAUA, B, C
3. PadA, D, E
4, ®ddaB, C, D
Options :

21052916649. 1
21052916650. 2
21052916651. 3
21052916652. 4

Question Number : 114 Question Id : 2105294205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who were architects of the Nuclear Strategy of ‘Massive Retaliation'?
A. John Foster Dulles

B. Richard Nixon

C. Dwight D. Eisenhower

D. Henry Kissinger

Choose the correct answer from the options given below

1. A only

2. B and D only
3. A and C only
4. D only
Options :
21052916653. 1
21052916654. 2
21052916655. 3
21052916656. 4

Question Number : 114 Question Id : 2105294205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A

2. $aa B AR D
3. PAAA 3R C
4, HAAD
Options :
21052916653. 1
21052916654. 2
21052916655. 3
21052916656. 4

Question Number : 115 Question Id : 2105294206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Biological theories of causes of war are based on the study of
A. History

B. Sociology

C. Ethology

D. Liberal analyses

Choose the correct answer from the options given below

1. A and B only
2. B only

3. B and D only
4. C only
Options :
21052916657. 1
21052916658. 2
21052916659. 3
21052916660. 4

Question Number : 115 Question Id : 2105294206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. H3d A 3R B
2. $ad B

3. HaAB AR D
4, H3aC
Options :
21052916657. 1
21052916658. 2
21052916659. 3
21052916660. 4

Question Number : 116 Question Id : 2105294207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following Theories given in the List | with their Proponents as given in the List 1

List | List 11

(Theories) (Proponents)

A. Game theory  |l. Albert Einstein

B. Realist theory  |Il. John Von Neumann

C. Relativity theory |lll. Sigmund Freud

D. Psychoanalysis |IV. Hans J. Morgenthau

Choose the correct answer from the options given below

TA-ILB-LC-WN,D-II
2ZA-IV,B-,C-1,D-Il
JA-ILB-INM,C-1,D-Il
4 A-1L,B-IILC-IV,D-1i
Options :

21052916661. 1
21052916662. 2
21052916663. 3
21052916664. 4

Question Number : 116 Question Id : 2105294207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-L,C-IV,D-1
ZA-IV,B-LC-1,D-1I
SA-ILB-IV,.C-1,D-1I
4AA-I,B-ILC-IV,D-1l
Options :

21052916661. 1
21052916662. 2
21052916663. 3
21052916664. 4

Question Number : 117 Question Id : 2105294208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
(Operation) (Personalities)
A. Operation Gibraltar |. George W. Bush
B. Operation Blue Star Il. A.B. Vajpayee
C. Operation Vijay ll. Indira Gandhi
D. Operation Enduring Freedom |IV. Ayub Khan

Choose the correct answer from the options given below

TLA-IWV,B-ILC-1,D-Il
ZA-IV,B-LC-1LD-1
3A-L,B-IV,C-1L,D-1I
4 A-ILB-LC-IV,D-1l
Options :

21052916665. 1
21052916666. 2
21052916667. 3
21052916668. 4

Question Number : 117 Question Id : 2105294208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-ILC-1,D-1I
ZA-IV,B-LC-ILD-|
JA-ILB-IWV.C-1I,D-1
AA-ILB-LC-1IV,D-1lI
Options :

21052916665. 1
21052916666. 2
21052916667. 3
21052916668. 4

Question Number : 118 Question Id : 2105294209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

(Event) (Country)

A. Tulip Revolution . Czechoslavakia
B. Rose Revolution ll. Georgia

C. Velvet Revolution l1l. Kyrgystan

D. Orange Revolution V. Ukraine

Choose the correct answer from the options given below

TA-LB-ILC-IILD-V
ZA-ILB-ILC-1L,D-V
3A-IV,B-ILC-1,D-1lI
4 A-IV,B-1IL,C-1,D-1
Options :

21052916669. 1
21052916670. 2
21052916671. 3
21052916672. 4

Question Number : 118 Question Id : 2105294209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-ILC-ILD-IV
ZA-IILB-ILC-1,D-IV
JA-IVB-ILC-1,D-1I
AA-IVB-ILC-1I,D-1
Options :

21052916669. 1
21052916670. 2
21052916671. 3
21052916672. 4

Question Number : 119 Question Id : 2105294210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

(Concept) (Explanation)

A, Lebensraum . Island countries/continents

B. Autarky Il. Living space

C. Insular Crescent ll. Environmental causes of chaos
D. The Coming Anarchy |IV. Economic independence

Choose the correct answer from the options given below

TA-IWV,B-LC-1L,D-1I
2ZA-IV,B-,C-1,D-Il
JA-ILB-IV,C-1,D-1I
4 A-ILB-IV,C-1,D-1
Options :

21052916673. 1
21052916674. 2
21052916675. 3
21052916676. 4

Question Number : 119 Question Id : 2105294210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| gl-1l

TR Tl

A, TEAIH |. HISAUS dcla / dciHey

B. 37T 11, feifdr @

C. SR hde 111, SETEEAAl &1 UgiaRuiyg HR0
D. G ShIET D1 v, 31 fsia

i fou e fadeal o § Ugl 9w gMu:

TA-IV,B-LC-1IIl,D-1
ZA-IV,B-LC-1,D-1I
JA-ILB-V, C-L,D-1
AA-ILB-IVC-1,D-1lI
Options :

21052916673. 1
21052916674. 2
21052916675. 3
21052916676. 4

Question Number : 120 Question Id : 2105294211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

(Exercises) (Countries)

A. Maitree-2019 . India and Maldives
B. Ekuverin-2019 ll. India and Indonesia
C. IMNEX-2019 lll. India and Thailand
D. Samudra Shakti-2019(1V. India and Myanmar

Choose the correct answer from the options given below

TA-IV,B-NLC-1LD-I
ZA-1,B-ILC-IV,D-II
JA-ILB-LC-IN,D-II
4 A-IILB-LC-ILD-WV
Options :

21052916677. 1
21052916678. 2
21052916679. 3
21052916680. 4

Question Number : 120 Question Id : 2105294211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



a -1l

g cx

A, T - 2019 . HRd 3R Aaig
B. - 2019 II. HRA 3R SaMRE
C. 3HE9 - 2019 I1I. YR 3R YI3cius
D. §H% Ffdd - 2019 V. YR 3R =HHER
i fou e fadeal o § Ugl IR gMu:

TA-IV,B-LC-ILD-|
2ZA-|LB-1ILC-1V,D-1l
SA-ILB-L,C-IV,D-1
AA-IILB-LC-ILD-IV
Options :

21052916677. 1
21052916678. 2
21052916679. 3
21052916680. 4

Question Number : 121 Question Id : 2105294212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List I

(Disaster) (Year)

A. Australian Bush Fire . January 2020

B. Taal volcano Eruption, Philippines Il. December 2019
C. Typhoon Hagibis, Japan . June 2019

D. Whakhari/ White Island Eruption, New Zeland |IV. October 2019

Choose the correct answer from the options given below:

TA-ILB-LC-WN,D-II
ZA-ILB-LC-1,D-V
3A-1L,B-LC-1IL,D-V
4 A-IV,B-LC-ll,D-1
Options :

21052916681. 1
21052916682. 2
21052916683. 3
21052916684. 4

Question Number : 121 Question Id : 2105294212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| Tql-Ii

HTIET ag

A, ST H Sivre | ST I. TG, 2020
B. dIet AT o fawnle, fefadi=g 1. fegay, 2019
C. TP gieliad, JUH 1. 9, 2019

D. SERl/ §I3¢C H5ds [depie, ellcs V. SfaRIER, 2019
i fou e fadeal o  Ugl 9w gMu:

TA-ILB-L,C-IV,D-1
ZA-IILB-L,C-ILD-IV
JA-LB-N,C-ILD-IV
4 A-IV,B-I,C-IL,LD-1
Options :

21052916681. 1
21052916682. 2
21052916683. 3
21052916684. 4

Question Number : 122 Question Id : 2105294213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
(MISSILES) (COUNTRY)
A. Raad- 500 I Iran

B. Ra'ad-ll Il. Russia

C. QRSAM I, India

D. R-27 I\VV. Pakistan

Choose the correct answer from the options given below

TA-1L,LB-IV,C-1L,D-1I
ZA-1L,B-ILC-IILD-V
JA-IV,B-LC-1L,D-1I
4 A-IV,B-1IL,C-1,D-1
Options :

21052916685. 1
21052916686. 2
21052916687. 3
21052916688. 4

Question Number : 122 Question Id : 2105294213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l
BRI LRl

A TS - 500 iG]
B.US-dl ear:]
C.HIARTITTH I1I. HRd

D. 3R - 27 V. QT &=
i fou e fadeal o  Ugl 9w gMu:

TA-ILLB-IV.C-1ll,D-1
ZA-|LB-ILC-1ILD-IV
JA-IVB-LC-1IL,D-1
AA-IVB-ILC-1I,D-1
Options :

21052916685. 1
21052916686. 2
21052916687. 3
21052916688. 4

Question Number : 123 Question Id : 2105294214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

(Place) (Country)

A. Wakhan Corridor . Tajikstan

B. Diamer-Basha Dam  |IL. Iran

C. Sistan Baluchistan I1l. Pakistan

D. Gorno-Badakhshan  (IV. Afghanistan

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IV,B-LC-1LD-1
JA-IV,B-LC-1,D-1I
4 A-1L,B-ILC-IV,D-1l
Options :

21052916689. 1
21052916690. 2
21052916691. 3
21052916692. 4

Question Number : 123 Question Id : 2105294214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

G cx

A. RG] BIRSR |. derTed
B. SIEHR - Y= =1 I1. 3¢

c. i sgiaH |11, e

D. Tl dGREH V. AT
i fou e fadeal o  Ugl 9w gMu:

TA-ILB-ILC-ILD-IV
ZA-IV,B-LC-ILD-|
SA-IVB-LC-,D-1
AA-I,B-ILC-1IV,.D-1lI
Options :

21052916689. 1
21052916690. 2
21052916691. 3
21052916692. 4

Question Number : 124 Question Id : 2105294215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List II
(Books) (Author)
A. India: The Most Dangerous Decades l. Stephen Cohen

B.The Making of Indian Diplomacy: A Critique of Eurocentrism|,, ¢ i Tharoor

C. India: Emerging Power I1l. Selig Harrison

D.Pax Indica: India and the World of the Twenty-First Century |IV. Deep K. Datta Ray

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IV,B-LC-1LD-1
JA-ILB-IV,C-1,D-1I
4 A-ILB-LC-IV,D-1l
Options :

21052916693. 1
21052916694. 2
21052916695. 3
21052916696. 4

Question Number : 124 Question Id : 2105294215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

-1 -1l
ELSED NEEE
A. 53T - § A oY s | R @ied
B.;ﬁﬁjmwm%ﬂﬁiﬂ:q%ﬁﬁm ”I@W
e e g'ﬁ'w
D. OIS Ef3a1: Sfeui US 5 93 3B § 21 T 9gd %U.ﬁﬂ%iﬂ?ﬂ

i fou e fadeal o  Ugl 9w gMu:

TA-ILB-ILC-ILD-IV
ZA-IV,B-LC-ILD-|
JA-ILB-V, C-L,D-1
AA-ILB-LC-1IV,D-1lI
Options :

21052916693. 1
21052916694. 2
21052916695. 3
21052916696. 4

Question Number : 125 Question Id : 2105294216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

(Author) (Theory)

A. Andre Beaufre . Importance of airpower

B. Alfred Mahan Il. Circle of States

C. General Giulio Doulet [lll. Nuclear Deterrence

D. Kautilya IV. Importance of sea power

Choose the correct answer from the options given below

TA-ILB-ULC-IV,D-I
ZA-ILB-IW,C-1,D-1I
JA-IV,B-LC-1LD-|
4 A-1L,B-ILC-IILD-WV
Options :

21052916697. 1
21052916698. 2
21052916699. 3
21052916700. 4

Question Number : 125 Question Id : 2105294216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A -1l

ED G

A TS H . 3UIRY B THR Ulae
B. Uciths HgA I, Gichel 3 &g

C. O fferdl geie 1. fdaR sy

D. ®ifccd v, 3UIeY 3{1® 4 Uiae
i fou e fadeal o  Ugl 9w gMu:

TA-ILB-ULC-IV,D-|
ZA-ILB-IV, C-|,D-1
SA-IVB-LC-ILD-|
AA-I,B-ILC-1ILD-IV
Options :

21052916697. 1
21052916698. 2
21052916699. 3
21052916700. 4

Question Number : 126 Question Id : 2105294217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following agreements chronologically in ascending order
A. India - Japan Free Trade Agreement

B. India - Sri Lanka Free Trade Agreement

C. India - Thailand Free Trade Agreement

D. India - South Korea Free Trade Agreement

Choose the correct answer from the options given below

1.C,B,A D
2B CDA
3.BCAD

4 C B DA
Options :
21052916701. 1
21052916702. 2
21052916703. 3
21052916704. 4

Question Number : 126 Question Id : 2105294217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad gaeld ®f FHGIE H HRIG! HHER Hayd Sy ;

A. HRd - U Had SR ST

B. HIXd - Hicio] Hod SOTUR FHHdl

C. HRd - YI3ciUs Had SATUR THIT

D. HRd - Glaull $IR4r Had SAUR GHl
- feu v fasedl ¥ ¥ 9El S 9T

1.C,B,AD
2B CDA
3.B.CAD

4. C B, D A
Options :
21052916701. 1
21052916702. 2
21052916703. 3
21052916704. 4

Question Number : 127 Question Id : 2105294218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Revolutions, in chronologically descending order
A. Long March

B. Cuban Revolution

C. French Revolution

D. Bolshevik Revolution

Choose the correct answer from the options given below

1.ABCD
2.A B D,C
3.B,ADC
4B DA C
Options :
21052916705. 1
21052916706. 2
21052916707. 3
21052916708. 4

Question Number : 127 Question Id : 2105294218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafdiad wifaal &1 pHSIT & IHR aRig] HH H HARYT BT :
A. T A

B. &gl shifd

C. WiE ifd

D. SieRIfd® ifd

A1 feu 7w faoedl # 9 el 3w 9y -

1A B CD
2.A B D,C
3.B.A D C
4B, D A C
Options :
21052916705. 1
21052916706. 2
21052916707. 3
21052916708. 4

Question Number : 128 Question Id : 2105294219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in ascending chronological order in terms of their induction
A, INS Jalashwa

B. INS Arihant

C. INS Virat

D. INS Vikramaditya

Choose the correct answer from the options given below

1.ACBD
2CABD
3.CADB

4 A DB C
Options :
21052916709. 1
21052916710. 2
21052916711.3
21052916712. 4

Question Number : 128 Question Id : 2105294219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafiad @i 93 H T fHT 9H & $F B1d & AHJaR 3RIg! HH § oggdd Sig :
A. 31T T TF STy

B. 31T U1 0F SRgd

C. 3T U UY faRre

D. 3118 T U fasmaea

e few e fawel # @ 9t s g

1.ACBD
2.CABD
3.CA DB

4. A, D, B, C
Options :
21052916709. 1
21052916710. 2
21052916711. 3
21052916712. 4

Question Number : 129 Question Id : 2105294220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the correct chronological sequence of theories
A. Rimland theory

B. Sea Power theory

C. Theory of Organic State

D. Heartland theory

Choose the correct answer from the options given below

1.C,B, D A
2.C, B AD
3.BCAD
4B CDA
Options :
21052916713. 1
21052916714. 2
21052916715. 3
21052916716. 4

Question Number : 129 Question Id : 2105294220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Rrgidl © 91 HH®IT & HI9R Haryd S ;
A, Forcivs fogid

B. W5 Tifaa aid

C. 3FIH® W &l [gid

D. BIecivs [zid
4 feu T fawedl & @ w8 SR g

1.C,B, D A
2.CBAD
3.B.CAD
4B, C, D A
Options :
21052916713. 1
21052916714. 2
21052916715.3
21052916716. 4

Question Number : 130 Question Id : 2105294221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following oceans in terms of area in descending order:
A. Atlantic Ocean

B. Indian Ocean

C. Pacific Ocean

D. Arctic Ocean

Choose the correct answer from the options given below

1.B,.D A C
2B AD,C
3.D,B A C

4 D,B.C A
Options :
21052916717. 1
21052916718. 2
21052916719. 3
21052916720. 4

Question Number : 130 Question Id : 2105294221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fraftied HeanR] B 37 855 & YR T SEe] HH § oaield S

A. Jfedifle® HEMARR
5. fog eI

C. H2d HegTH Y

D. Ahic®H AGHEIR
g feu e fapedl & 9 W81 SR gL

1.B.D A C
2B AD,C
3.D0,B A C
4.D,B,C A
Options :
21052916717. 1
21052916718. 2
21052916719. 3
21052916720. 4

Question Number : 131 Question Id : 2105294222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the chronological ascending order:
A. Arms Trade Treaty

B. Intermediate-Range Nuclear Force Treaty

C. Biological Weapon Convention

D. Chemical Weapon Convention

Choose the correct answer from the options given below:

1.C,D B A
2D, CAB
3.3ACDB
4 C B D A
Options :
21052916721.
21052916722.
21052916723.
21052916724.

AW N~

Question Number : 131 Question Id : 2105294222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad ®f HHG & HTUR ARG HH H ddidd HITIL ;
A. TRd TUR Y

B. HEOH WIH AHSHT g 9iY

C. Siid® BUOR #fHaHy

D. IS BiUaR fHEHg

i feu 7w fgoeul # ¥ U5l 3w gHU:

1.C,D, B, A
2D,CAB
3.A,CDB
4.C, B, D A
Options :
21052916721.
21052916722.
21052916723.
21052916724.

AW O~

Question Number : 132 Question Id : 2105294223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following publications in chronological descending order
A. Kargil Report

B. Blind Men of Hindoostan

C. Himalayan Blunder

D. Discovery of India

Choose the correct answer from the options given below

1.A B DC
2B ACD
3.ABCD
4D, C A B
Options :
21052916725. 1
21052916726. 2
21052916727. 3
21052916728. 4

Question Number : 132 Question Id : 2105294223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafdiad Yol &1 HHST © HTHR HaRi6! HH H oUdid Hifo :
A. PRI RUid

B. sl s B 3D fegadH

C. feAreTd =ie?

D. fsmall 3% sfsar

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. A B D,C
2.B.ACD
3ABCD
4.D,C A B
Options :
21052916725. 1
21052916726. 2
21052916727. 3
21052916728. 4

Question Number : 133 Question Id : 2105294224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following conflicts in the correct chronological ascending order
A.Ethnic conflict in Yugoslavia

B.Crisis in Chechnya

C. India - China war

D. Ethnic conflict in Sri Lanka

Choose the correct answer from the options given below

1. C-D-A-B

2. C-D-B-A

3. D-C-A-B

4. C-A-D-B
Options :
21052916729. 1
21052916730. 2
21052916731. 3
21052916732. 4

Question Number : 133 Question Id : 2105294224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i feu T ©e &1 IR o HEiciRad Y9ul ol HHGIC © YR Jol 3RI6! HH H ogaRyd
HIfore ;

A. TG # oy d9y

3. <= H Hde

C.HRd -dH 4G

D. #icie! H Sidig Wy

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. C-D-A-B

2. C-D-B-A

3. D-C-A-B

4. C-A-D-B
Options :
21052916729. 1
21052916730. 2
21052916731.3
21052916732. 4

Question Number : 134 Question Id : 2105294225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to UNHCR, the following countries are top hosting countries for the refugees.
Arrange these countries in descending order.

A. Sudan

B. Pakistan

C. Uganda

D. Turkey

Choose the correct answer from the options given below

1. D-B-C-A

2. D-C-A-B

3. B-D-C-A

4. A-B-C-D
Options :
21052916733. 1
21052916734. 2
21052916735. 3
21052916736. 4

Question Number : 134 Question Id : 2105294225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U4 U9 91 3R & SR FEfiiad o1 smull ssmerd g2 &1 34 o2l &f AR el HH H
gy I :

A GSH

B. UTfh &=

C. TSt

D. TdI

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. D-B-C-A

2. D-C-A-B

3. B-D-C-A

4, A-B-C-D
Options :
21052916733. 1
21052916734.2
21052916735. 3
21052916736. 4

Question Number : 135 Question Id : 2105294226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following treaties in ascending chronological order
A. Treaty of Versailles

B. Peace of Westphalia

C. Congress of Vienna

D. Treaty of Rome

Choose the correct answer from the options given below

1.A B DC
2A B CD
3.B,ADC
4B CAD
Options :
21052916737. 1
21052916738. 2
21052916739. 3
21052916740. 4

Question Number : 135 Question Id : 2105294226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafaa il of SIS HHGE & YR Haiyd Sifad ;
A. TET DI EIE

B. dEhierT & Wifd

c. fag ®igw

D. I @1 FiY

i feu ¢ famedl # 9 wel I g :

1. A B D,C
2.A B CD
3.B.A D C
4B, CAD
Options :
21052916737. 1
21052916738. 2
21052916739. 3
21052916740. 4

Question Number : 136 Question Id : 2105294227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: "Civil disobedience is a civil breach of immoral statutory enactments”, Gandhi
said

Reason R: If the law of the state was discriminatory and immoral, the citizens had the right to
disobey the law

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916741. 1

21052916742. 2

21052916743. 3

21052916744. 4

Question Number : 136 Question Id : 2105294227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :
HiHYH (A) : el S A Bel gidTa sHag HAlad ifdlte AT o 3wie g

T (R) : 9fE To9 B B HGHIT U0 SR SHA® YT df AFIRSD| @I B & Scaid= @l HHUDHR
|

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel SRAT 751 5|
3. (A) TEl & TR (R) TE! T

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

21052916741. 1

21052916742. 2

21052916743. 3

21052916744. 4

Question Number : 137 Question Id : 2105294228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Civil war leaves a terrible legacy of health problems and these require focused
attention

Reason R: The post-conflict society begins peace with a high risk of further conflict and with a
weak economy

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052916745. 1

21052916746. 2

21052916747. 3

21052916748. 4

Question Number : 137 Question Id : 2105294228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052916745. 1

21052916746, 2

21052916747. 3

21052916748. 4

Question Number : 138 Question Id : 2105294229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: The naval version of Light Combat Aircraft (LCA) successfully executed its first
ever arrested landing at a shore based test facility in Goa in 2019

Statement lI: With this feat, the indegenously developed niche technologies specific to dock
based fighter operations have been proven, which will now pave the way to develop and
manufacture of the single engine deck based fighter for the Indian navy.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052916749. 1

21052916750. 2

21052916751. 3

21052916752. 4

Question Number : 138 Question Id : 2105294229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HYEHYH (A) : D TSP [GHH (TTRITY) o 9T XD 2019 H T1d1 § 5 e H1URd Tam
GfasT OX 391 g 3RES AiST hadl dd [&al &

d® (R) : 39 g & U1y Wew H Gelid sranyfe Teifie!, off S1@ S1uTid Bigex STReH 9
a1y ¥9 ¥ 937 &, = U1 &7 Hifed ®< Gl ¢ ol 3@ HRAg 21441 & ¢ Uhd 3o ob
H1TRT a1 faaH! & fasr AR fafaiu $2 arf gwd s

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5

2. (A) 3R (R) GIFT Gal & 311% (R), (A) DI Ug! oURed Tal ol
3. (A) 98l 8 U (R) Wel Tl &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

21052916749. 1

21052916750 2

21052916751. 3

21052916752. 4

Question Number : 139 Question Id : 2105294230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: The laser Interferometer Gravitational- wave Observatory (LIGO) is the world's
second largest gravitational wave observatory.

Statement lI: The LIGO and Virgo detectors recorded an unknown or unanticipated ‘burst’ of
gravitational waves in January 2020.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052916753. 1

21052916754. 2

21052916755.3

21052916756. 4

Question Number : 139 Question Id : 2105294230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052916753. 1

21052916754. 2

21052916755. 3
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Question Number : 140 Question Id : 2105294231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: The construction of the strategic crude oil storage facilities is being managed by
the Bharat Petroleum Corporation limited

Statement lI: To address energy insecurity, the Indira Gandhi government mooted the idea of
strategic petroleum reserves in 1983

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052916757. 1

21052916758. 2

21052916759. 3

21052916760. 4

Question Number : 140 Question Id : 2105294231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 210529109
Question Shuffling Allowed : Yes

Question Id : 2105294232 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage and answer the questions that follow

The Indian defence industry is largely dominated by government-owned/ controlled entities,
with the private sector playing a peripheral role. The deminance of the public sector is ensured
through eight giant defence public sector undertaking and forty-one ordnance factories that
are under the control of the Ministry of Defence. Besides, there are fifty odd research
laboratories under the umbrella of the Defence Research and Development Organisation. But
the story of the Indian defence industry is one of great disappointment. However, under the
'‘Make in India' programme, the Government of India, in a major policy decision, decided to
throw open the defence sector to private investment with 26 per cent equity stakes for foreign
companies in any defence joint venture. Further, the government decided to increase the cap
from twenty-six per cent to forty-nine per cent which has subsequently been increased to a
hundred per cent. Despite the numerous reform measures undertaken under the ambit of the
'‘Make in India' programme, the Indian defence industry still suffers from several legacy issues.
This reform agenda should begin with an overarching and integrated institutional structure
that would be responsible for the three critical but interrelated functions of procurement,
production and R&D. For India to establish a credible industrial base, improved R&D will play
a vital role. This needs to be corrected by making the DRDO accountable, brining the R & D
labs and the industry together as a team and encouraging the industry to spend for greater
resources on in-house technology development.

Sub questions

Question Number : 141 Question Id : 2105294233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to passage, the reform agenda in India's defence industry should begin with

1. An overarching and integrated institutional structure
2. Revolution in Military Affairs

3. Giving more autonomy to DRDO

4. Giving private sector more concessions

Options :

21052916761. 1

21052916762. 2

21052916763. 3

21052916764. 4

Question Number : 142 Question Id : 2105294234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to passage, the Indian defence Industry consists of how many ordnance factories?

1.:51

2. 41

3.09

4.49

Options :
21052916765. 1
21052916766. 2
21052916767. 3
21052916768. 4

Question Number : 143 Question Id : 2105294235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the passage, an overarching and integrated institutional structure would be
responsible for the three critical and inter-related functions of

1. Procurement, Production and DRDO

2. Procurement, Production and Supply chain

3. Procurement, Production and purchase of arms
4. Procurement, Production and R & D

Options :

21052916769. 1

21052916770. 2

21052916771. 3

21052916772. 4

Question Number : 144 Question Id : 2105294236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, to establish a credible Industrial base what needs to be done?

1. Bring both public and private sector under government control

2. Make DRDO accountable and collaboration of R & D labs and industry
3. Create more jobs in DRDO and R & D labs

4. Give private sector more autonomy and funds

Options :

21052916773. 1

21052916774.2

21052916775. 3

21052916776. 4

Question Number : 145 Question Id : 2105294237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the passage, to make the DRDO and R&D more accountable, the emphasis has
been given on

1. Recruiting more scientists

2. Spending more resources on private sector defence labs

3. Keeping private industry under govt control

4. Spending more resources on in-house technology development
Options :

21052916777. 1

21052916778. 2

21052916779. 3

21052916780. 4

Question Id : 2105294232 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 141 Question Id : 2105294233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052916761. 1
21052916762. 2
21052916763. 3
21052916764. 4

Question Number : 142 Question Id : 2105294234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052916765. 1
21052916766. 2
21052916767. 3
21052916768. 4

Question Number : 143 Question Id : 2105294235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T & SR, [a%d 7 Ueidd SRIFTd X [ oI Heayy] SR SfaR-Tratd Bl & 1o
fsreR i

1. WG, 3G AR S AR ST Al

2. Gile, IdTG AR MY Haan

3. GllE, 3G AR BRI & Tl

4, G{iE, Id1E AR TUUHE 7Y f[dem™
Options :

21052916769. 1




21052916770. 2
21052916771. 3
21052916772. 4

Question Number : 144 Question Id : 2105294236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052916773. 1

21052916774. 2

21052916775.3
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Question Number : 145 Question Id : 2105294237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052916780. 4
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Sub-Section Id : 210529110
Question Shuffling Allowed : Yes

Question Id : 2105294238 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
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Question Label : Comprehension



Read the passage given below and answer the questions which follow

In other words, true realism is an art more than a science, in which the temperament of a
statesman plays as much of a role as his intellect. While the roots of realism hark back 2,400
years to Thucydides' illusion-free insights about human behaviour in The Peloponnesian War,
modern realism was perhaps most comprehensively summed up in 1948 by Hans J
Moregenathu in Politics Among Nations: The Struggle for Power and Peace..., the effort of a
German refugee who taught at the University of Chicago, in order to set the stage for my
larger discussion about geography: for realism is crucial to a proper appreciation of the map,
and in fact, leads us directly to it.

Morgenthau begins his argument by noting that the world "is the result of forces inherent in
human nature.” And, human nature, as Thucydides pointed out, is motivated by fear (phobos),
self-interest (kerdos), and honor (doxa). "To improve the world,"writes Meorgenthau,"one must
work with these forces, not against them.” Thus, realism accepts the human material at hand,
however imperfect that material may be. "It appeals to historical precedent rather than to
abstract principles and aims at the realization of the lesser evil rather than of the absolute
good." For example, a realist would look at Irag's own history, explained through its
cartography and constellations of ethnic groups, rather than to moral precepts of Western
democracy, to see what kind of future Iragq would be immediately capable of following the
toppling of a totalitarian regime. After all, good intentions have little to do with positive
outcomes, according to Morgenthau.

Sub questions

Question Number : 146 Question Id : 2105294239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the passage, one of the arguments is "To improve the world, one must work with these
forces, not against them."” Choose the forces referred to in this context

1. The forces, which are not in the domain of world politics
2. The forces, which are absolutely good

3. The forces, which are inherent in human nature

4. The forces, which are not inherent in human nature
Options :

21052916781. 1

21052916782. 2

21052916783. 3

21052916784. 4

Question Number : 147 Question Id : 2105294240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the passage, it is stated that the temperament of a statesman plays as much of a role as his
intellect, It is an explanation of

1. Political Idealism is an art rather than a science
2. Political Idealism is not an art but a science

3. True realism is not an art but a science

4, True realism is an art more than a science
Options :

21052916785. 1

21052916786. 2

21052916787. 3

21052916788. 4

Question Number : 148 Question Id : 2105294241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

The argument in the passage is, "It appeals to historical precedent rather than to abstract
principles and aims at the realization of the lesser evil rather than of the absclute good.” What
is the context of this?

1. Realism accepts the human material at hand, however imperfect that may be

2. Realism accepts the human material on the basis of perfectionist approach

3. Realism does not accept the human material at hand because imperfection is not
acceptable

4. Realism only accepts the good human material and rejects the imperfect one

Options :

21052916789. 1

21052916790. 2

21052916791. 3

21052916792. 4

Question Number : 149 Question Id : 2105294242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the passage, the following words - phobos, kerdas and doxa are used to describe the
motivating factors of :

1. Conditions for peace
2. Human nature

3. Absolute good

4. Cartography
Options :

21052916793. 1
21052916794. 2
21052916795. 3
21052916796. 4



Question Number : 150 Question Id : 2105294243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the passage, it has been stated that a realist would approach to see what kind of future Irag
would be immediately capable of following the toppling of a totalitarian regime. What
factors would he take into account?

1. Moral precepts of western democracy
2. Good intentions of those who would have the responsbility to topple the totalitarian regime
3. Perfect human material

4. Irag's own history explained through its cartography and constellations of ethnic groups
Options :

21052916797. 1

21052916798. 2

21052916799. 3

21052916800. 4

Question Id : 2105294238 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052916781. 1

21052916782. 2

21052916783. 3

21052916784. 4

Question Number : 147 Question Id : 2105294240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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